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1. Identify the incorrectly matched pair.
(A) Stefan Edberg : Cricket (B) Bjorn Borg : Lawn Tennis
(C) Tiger Woods : Golf (D) Cristiano Ronaldo : Football

1. SRyw(S Jferel Y&l @A fHare 59 |

(A) Brwe awasf : @b (B) = 3’sf : a7’ (5fem

(C) Bi29R Tuw : o (D) BT @ : Fo3@
1. TS GRTC CRIelD e e |

(A) COF @1 : fEFeFd (B) w1 3of : =1 (Bfer

(C) Tizema T : o (D) @M @MICEe! @ Fo3e
1. TR sEEaE St o |

(A) et weamt : frehe (B) =5+ & : &= 2fm

(C) 2T 3Igd : Teh (D) ffEam’ e’ : Fead

1. T AT SIS w1 Tg=T |
(A) T Tet : TRk (B) = &t ot 2|
(C) 2SR g&d : Meh (D) ferfeeamt TATee! @ Feard

2. Where is the National War Memorial located?
(A) Srinagar (B) New Delhi

(C) Tawang (D) Amritsar
2. B @ Gl ' SHTe ?

(A) Hesra (B) o frg

(C) Brar (D) o
2. AR AT =P (TR TS ?

(A) Heerm (B) g+ Wl

(C) wreme (D) e
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2. A3 IR B & o= 27

(A) R (B) e fegt

(C) (D) e
2. T Tg TR wal fed 27

(A) HAm (B) =& fegt

(C) (D) TR

3. Which of the following is the Mission Basundhara of the Government of Assam
related to?

(A) Fishery and livelihood
(B) Women empowerment
(C) Land records and land revenues

(D) Digital education

3. FEfIRe (@GR Gre P 59 fHNed Pl TRk 2
(A) ST SN S
(B) 2wt >Repael
(C) eReeT< o S e
(D) TS P

3. TCod (I 7 P AIFICAT PN A5 U 2
(A) TR @ G
(B) = SN
(C) i wloret & B ey
(D) fEfEore Mo

3. ITEW TERH e Sg-amE Med 7= amar 37
(A) T BRa IR ™= T=
(B) TSI TRIT WA
(C) BT-XEI TR BI-TWSIT
(D) fafSreat dietiong
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3. a9 TR w1 fiem sgun fefafaa & o froa gafia 27
(A) T AR TTSAfeR
(B) wiger wetiehentol
(C) ofw stfyer@ 3R W Tsa
(D) Teforea farenm

4. Which of the following organizations is not in the business of commercial vehicles?

(A) Larsen & Toubro (B) Mahindra & Mahindra
(C) Force Motors (D) Tata Motors

4. RS @G dfopn Al AT IPRE F19e Tioe T2 2
(A) =Ce 9% 5T’ (B) W2wm 9% Wfewm
(C) 6 o= (D) Bior 59z

4. T0od (1o AT eI AR TP IS T 2
(A) FHEH SIS G (B) fzml = Wifzm@
(C) Pt G5 (D) 5T CMoa

4, MEEM S BHATT BIATIET HER TR TST?
(A) TR TS T (B) #ies U= Aig=
(C) wE med (D) 2rT Hed

4, frfafaa @ @ ®F-a1 1ed arfifsres aredl & =Fea™ § TE 87
(A) oA T Za (B) Hfea1 Urs Afes
(C) ®r wied (D) e Tred

5. If the pH of a liquid is 50, then the liquid is
(A) alkaline in nature (B) neutral in nature
(C) liquid metal (D) acidic in nature
5. (el ©@ M9 pH T 5:0 2°C31, (312 01 “mieff|y
(A) P eiphed (B) efrs apfeq
(C) w9 4T (D) wfi zrgfes
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5. g ©acerd ¥, @5, (pH) 50 3@, (1% =@
(A) =5 2ipfen (B) =i aigfon

(C) o= 4T (D) =% 2Pphed

5. Jfe OF" dEaEE pHST 5:0, 3Tl o Al

(A) ERY g (B) &=

(C) ¥ =g (D) uftrs =g
5. 59 fRet 3 %1 Ho THo (pH) ¥M 50 &, @ 98 79 &

(A) TR e (B) Sfd # qeed

(C) o org (D) Wﬁw

6. Who is the Vice President of India, as on 1st of January, 2024?
(A) Gulab Chand Kataria (B) Ram Nath Kovind
(C) Jagdeep Dhankhar (D) Rajnath Singh

6. 1 SN, 2024 MCCF OFOT TARGANS (Fe 2
(A) TR 5% oI (B) M M1 (FIR™
(C) o =T (D) e B

6. 1 SRR, 2024 CCF ©Hced TGN (7 2
(A) (CaTTI?l DI oI (B) T M &I
(C) &l qe 4T (D) e B1k2

6. 2024 AFATEH 1 AR WIfAREE 9RaH WSt RriTE ar?
(A) T TS T (B) T 1Y whid=<
(C) SFTET &Rt (D) Ty T

6. 1 SHadl, 2024 H VR % ITTAT B &7
(A) TS =8 Tl (B) TH 1Y whife
(C) T gEe (D) Ty T
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7. Which of the following belongs to Class I category of lever?
(A) Scissor (B) Wheelbarrow

(©) Human arm (D) Stapler

7. RS @G 2249 @@ oo o@efs 2
(A) GOl (B) ¢JsTl aNT
(C) g A2 (D) BRI

7. ToF @0 22w @i ferecag wmwafe 2

(A) I (B) =Tl

(C) e 2@ (D) SoeETR
7. TeEE 99 qFaa ara [ faar fafefer?

(A) THEf (B) et T

(C) AHfH A= (D) WUAR

7. T=fofaa 4 9 wia-un oo < e 1 9ft § gafuq 27
(A) =l (B) T
(C) THa T (D) WUeR

8. The National Flag of which country has a white cross over red background?
(A) Brazil (B) Switzerland
(C) The United States of America (D) Japan

o

8. (I (PR TSR [T 8] 7P I91 I67 Bl FE HF =z 2

A) e (B) DREINCEIS

(C) AT &G (D) A7

8. (P (MR QISR TR o1 “bpHee GFio M T SR ?

(A) (B) *EHEITG
(C) WIRF Fea1g (D) &=
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8. 9 gRERM fRfthetmma s ey wmmE TR %49 37

(A) ST (B) GEoIRaive

(C) AR SUTZ 1T (D) STaH
8. foru AW & UEH was A ofTet g9 T T Hhg Hid 87

(A) TSt (B) feaesiels

(C) TIH T TR (D) S

9. Which of the following is considered as the earliest compilation?
(A) Yajurveda (B) Atharvaveda
(C) Rigveda (D) Samaveda

9. PRI TG GRS [ AFer el [Reaval 41 27 2

(A) cW? (B) ‘WW’

(C) ‘“doaw’ (D) A’
9. Ta @FWHCE AN WeFer 2T [Reasen F41 29 2

(A) ‘e’ (B) ‘Sedaw’

(C) ‘4w’ (D) AN
9. T e sEtgs fifsfe gy foram o g gei7?

(A) e (B) ‘wredaE

(C) ‘fosg’ (D) ‘@mee’
9. fam=fafaa @ 9 fre 9@ YgaT Gt HHT ST 27

(A) ‘agde (B) ‘wterdde’

(C) ‘FaE (D) ‘@mag’

10. Which of the following places was a part of the Indus Valley Civilization?

(A) Machilipatnam (B) Babylon

(C) Mohenjo-daro (D) Byzantine
10. FRRTRS (! 2 P Toerl Terer wEsfs ?

(A) WRfeiGe (B) e

(C) Tezegmical (D) drECEDE
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10. foca Tferfre (e 2=l B Sererel sTerer wie fwe 2

(A) =TT (B) @mfRem

(C) CRCGMmICH (D) JBCEToIE
10. TRHEH & ST 7y SRAH SR sermE?

(A) TRIAH (B) sfera’=

(C) Hest e’ (D) fermfees
10. frfefad § @ wH-a1 we fay ot avran 0 fawan on?

(A) TSIz (B) sisffet=

(C) HgSEet (D) sfiefea

11. Who among the following was involved in the Battle of Waterloo?

(A) Napoleon Bonaparte (B) Czar Nicholas
(C) Adolf Hitler (D) George Washington
11. 0] @ RS @R @ow wifee 2
(A) GTCferR CaI=Ib (B) fcreTs w14
(C) @ f2hea (D) & QPG
11. Tieo Sfafems T (P SABRER 0@ Svo Reem 2
(A) GTCfere Car=Ib (B) &= fercret
(C) 9w f2berm (D) & SHHLG
11. TEETE EHF 9R e IR STeersl dteet 37
(A) -9’ fora ST (B) SR fis '@
(C) ueew faeem (D) STSi aTiSTe
11. ‘aretq i e | fefafed #§ @ @ e on?
(A) et SR (B) SR fihrera
(C) TElewh feeer (D) S aTf¥FTe
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12. Bhairabkunda is a trijunction of which of the following?

(A) Assam, Bhutan, China
(B) Assam, Bhutan, Arunachal Pradesh
(C) Assam, Bhutan, Sikkim
(D) Assam, Sikkim, Arunachal Pradesh

12. (oPe FERIRe @l [Aesm e 2= 2
(A) SPH, $HIF, B
(B) P, O, S 20
(C) =P, oH, e
(D) =T, fofe, Sreembst eiom

12. oA @ b B AT (ST 2
(A) SPT, TOM, B
(B) SPT, BN, SRFATbE 2|
(C) =P, To, Bifes
(D) =P, PIiRFS, SI=eeliet 2o

12, RaF<aT TMEEH ol AT SRR TR ST ?

(A) TEm, qdH, ==
(B) 3TE™, YdH, TE0MT=A Ja9l
(C) TmEm™, ya, fafen

(D) 31w, faferm, Tevmee Jeu

12. wage fmfafaa § & foroe Bsiaem 27
(A) 3TEH, 2, <
(B) 3TEM, ¥2H, &0 Ja¥l
(C) e, sz, fafem
(D) 7eM, fafed, sTEv=a Taut
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13. Which of the following is generally salty in taste?
(A) Snowflake (B) Rainwater

(C) Flowing river water (D) Seawater

13. feaferie cpmfas comam e s 2
(A) TR (B) I9F° ~(1t
(C) =Sl =W “fe (D) TR~

13. T6F @0 RS FIW FING 2
(A) TR (B) 3BT &=
(C) zAIfZ® T o (D) ST &

13. TEEH o= TUETEE M ¢
(A) REB-T=T (B) T@I-TIS
OEEIGERECIEE (D) Aenfy &

13. f=faftad § & F-91 e 3 gE=a: 9 gl 27
A) Tegepu (B) rfiar =t Ot
(C) =r&dl =t =1 arHl (D) @gg T Tt

14. Which of the following mountain ranges is in North-East India?
(A) Barail Range (B) Shivalik Range

(C) Satpura Range (D) Aravalli Range

14. FRERRS @ oHoqe Teg-7[ SHes S{iEe ?

(A) <R e (B) Prifers sfowen

(C) A7 *RfSw=l (D) SRR ST
14. 069 “ReC@gRR T (@it Teged erre sHiEs ?

(A) e o (B) Prifere oRoc@

(C) Ao~ Rt (D) SR ~Hecs
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14. TREH o AT ATET FT-HHST TR 27
(A) A TS IR (B) Terenferes gt el
(C) TAYW ST AR (D) ARTEAT ETSET ATR

14. frefafad § @ SF-H vda F@en g 9ra J 27
(A) aRe Aot (B) franferes soft
(C) wager At (D) el Taa oft

15. Which of the following statements is incorrect?
(A) Lakshadweep is a Union Territory of India.
(B) Maldives is a Union Territory of India.
(C) Andaman and Nicobar Islands is a Union Territory of India.

(D) Puducherry is a Union Territory of India.

o

15. faferfie @M Tfe orem 2
(A) =TEFEl7 SAeq 93+ (IR *1PTS ey |
(B) WETalY OIeF Q¥+ (FHR *PTe qre |

(C) S S CPIRE B121%)g TReq G (IR =P 7%y |

(D) “[TCO]N SRS G4 (I *1FTS q1ey |

15. Tea (e R orum 2
(A) SIFFRY RIS GFH (FHOTS 26 |
(B) Wrefalel SRced @3 (FwHIhTe weee |

(C) SN ¢ TP @7i7je TRCed GFib (FTHIPTe T2 |
(D) "M ©ces 3 (FHHIFTe T |
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15.

15.

eE w9 feegfomr o T

(A) SeIfsaT wRaH T s Geee TS|

(B) HIAfsdl YA T8 fiesi goeme TSt |

(C) AT=MM A T sr fguemen yraf 7@ firestt gomm TEsh |
(D) gg=rn yraf T frest g g |
Frafefaa @ @ -1 FF Teq 27

(A) TEET WA T T heRNdd Yo T

(B) WICTEIT YA ol Ueh hgaMMidd Je9 &1

(C) 3TedM 3R FelaR Faag WRA 1 Ush hgemiad Jew 2 |

(D) JgRI WA 1 Teh hgeMad Ja & |

16.

16.

16.

16.

16.

The Equator, the Tropic of Capricorn and the Tropic of Cancer pass through which
continent?

(A) Asia (B) Australia

(C) South America (D) Africa

(I TRICHIE e KA, TG (@41 SF FFoFIf (F21 A9 (2 ColcR 2
(A) «fe (B) gl

(C) wlEea Sl (D) <!

RN, TR (T GR FEOGFIG (T4 (I F2CC T4 e ooy Tz ?
(A) «@frm (B) SIOGER

(C) wfFa SCfEl (D) <=

forge g, W AT 3T ek BTEISTT el BIGRHTSI SIS ¢

(A) wfen (B) swgferm

(C) e AT (D) i

LRI, HhRET 3R b fohe TeTdia & giet Toret 87

(A) TR (B) sweferan

(C) cfequr erofwER (D) ThieR

SLRC-2024/P-111/ 1-D 16



17.

17.

17.

17.

17.

Which of the following is an island State of the United States of America?
(A) Madagascar (B) Canary Islands
(C) Hawaii (D) Greenland

RIS @ SR IeE 934w Blo[Tey 2

(A) SWISTRE (B) (IR =31
(C) 2R (D) Acare
o (TG TRE JSAET G0 A=G 2

(A) SMIaM=RI (B) FfF @
(C) =eAR (D) s
TR Fe AT STUTE 2eH T 59 T ?

(A) HIGTTERT (B) =t f5u
(C) T3 (D) v
freferfad & & FH-|1 I ToF SHNHT 1 TH H9 T5T 27

(A) HSTER (B) 1
(C) &g (D) et

18.

18.

18.

Sudden burst into the open of hot water and vapour from deep underground is
termed as

(A) geyser (B) volcano

(C) tornado (D) tsunami

BOIT SISO 741 o[ “Mlell T ] [ wiwaee el @191 AR5 (e 2

(A) Tm 2mEa (B) STCaReNE

(C) Befea (D) eIt

STSI B9TS (AT TIFFIP [N 5190 &1 G =9 Fofe 2eqes e
(A) T 219 (B) wcaafad

(C) gfefamy (D) i
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18. e TAFHR TE@E g g T % STERARE! g8t
(A) fog B (B) i Hii
(C) wmHraTE (D) gt

18. TR e ¥ gl # M U 3R AT F IEEF B2 F Fel el @

(A) TSR (B) SoTeIdwEt
(C) Fa=X (D) gt

19. Which of the following is not a component of the Constitution of India?
(A) The Directive Principles of State Policy
(B) The Directive Rights of the Centre
(C) The Fundamental Rights

(D) The Fundamental Duties

19. RIS @G Saes AR TAmE 7= ?
(A) FZ ARBERR Fores T
(B) Fma e SifEsla
(C) CNfers IfaFa

(D) CMfeRe F97

19. TCod (PRI SRCed AT TAWI 7 2
(A) MG ~ARDERE WeETs T
(B) FcwF Mo wfieE
(C) CTfer wfa=
(D) CNferF T
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19.

19.

TR sea YRa afsfse smerm a7

(A) TRETT Tl AreeTe

(B) Toreanfy farenmm wmemg

(C) TfeAT Horg

(D) et ST g

frafafaa @ & F9-a1 27w YR & afaum & T8 27
A) =7 % Fifg-FEves frga

(B) % % feweh TR

(C) Hifersh Aferepr

(D) Hifetsh e

20.

20.

20.

20.

20.

A continuous rise in the price level is called

(A) stagflation (B) deflation
(C) hyperinflation (D) inflation
T B9 G o (T 2T

(A) TRl (B) RIS

(C) = Jureife (D) Jurgifs

(A) frveTer-"RIfe (B) SHIfe

(C) e @i (D) Y@rIfe

o7 T AT S8 ITCTe R g8t

(A) TIHATH (B) fewrmm

(C) BTEIRERITH (D) FHRIE

T TR # TR gfg 1 w1 ar &

(A) TTRATH (B) fewrem

(C) TTEEFATH (D) TWATH
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21. What does DAY stand for in the National Rural Livelihoods Mission (DAY-NRLM)?
(A) District Availability Yojana
(B) Deendayal Antyodaya Yojana
(C) Deendayal Ayurvedic Yojana

(D) District Achievement Yojana

21. I 2 SRS WA (DAY-NRLM)S DAY & J&m 2
(A) District Availability Yojana
(B) Deendayal Antyodaya Yojana
(C) Deendayal Ayurvedic Yojana

(D) District Achievement Yojana

21. FeR A FH i (DAY-NRLM)-9 DAY @18 Fl (@R 2
(A) District Availability Yojana
(B) Deendayal Antyodaya Yojana
(C) Deendayal Ayurvedic Yojana

(D) District Achievement Yojana

21. ¥FA ¥ AWiigs fRE (DAY-NRLM)3TE DAYST H JSHI1?
(A) Teafeae smfafafafa asmr (District Availability Yojana)
(B) dFearet 31=ded AT (Deendayal Antyodaya Yojana)
(C) dFeaTa Agdfes ASHT (Deendayal Ayurvedic Yojana)
(D) feafede wfasm= AsMT (District Achievement Yojana)

21. TEH T 3Tkt fieM [National Rural Livelihood Mission (DAY-NRLM)] B DAY &
7 a1 =27

(A) 5o Suetsgar JSHT (District Availability Yojana)
(B) dMeaTet 3T@NEd AT (Deendayal Antyodaya Yojana)
(C) dFeaa aTﬂﬁﬁ% AT (Deendayal Ayurvedic Yojana)
(D) fStel Suafsy ASAT (District Achievement Yojana)
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22. Which of the following novels was written by Padma Shri Rongbong Terang?
(A) Mrityunjay (B) Oximot Jar Heral Xeema
(C) Rongmilir Hanhi (D) Miri Jiyori

22. IR @R SoeyeT oA 9598 (SIS I5eT FECR 2

(A) TorgF (B) SPIN® 17 (291 ST
(C) FMfer 2if2 (D) ff5 e

22. I @ TRTPID MR 73R (TR 7R A0© 2
(A) Jored (B) 7IN@ 17 (2T SN
(C) Ffferg 2if2 (D) AT Gra

22. TEEM ¢ o A w=rEht & auet forgma?
(A) Fog==iq (B) 37HIHd SR &¥reT 1T
(C) Hfer gife (D) faf et

22, f=fafgd @ @ S-a1 Su=me v=eh T aun g foran e
(A) Fgo I (B) erdiad SR guet HiET
(C) Tfafer gret (D) iRt forert

23. Which of the following is not a Central Armed Police Force of India?
(A) Indian Coast Guard (ICG)
(B) Sashastra Seema Bal (SSB)
(C) National Security Guard (NSG)
(D) Central Industrial Security Force (CISF)

23. ARSI S_e (FRE T SR R 72 2
(A) SR Tope TRl (ICG)
(B) & ST 31 (SSB)
(C) B = 6 (NSG)
(D) @R Srifes far-rerifzat (CISF)
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23. T (PG ST (FUR 3E 7Jforifaa w1 2
(A) SRR T TRl (ICG)
(B) [F ST 791 (SSB)
(C) B I o6 (NSG)
(D) &I S frrerfzal (CISF)

23. TEEM sea1 wRa e gl Tty g aer?
(A) zf<am = mE (ICG)
(B) & fomr s/t (SSB)
(C) FvHa fafesfife mE (NSG)
(D) ¥ gerfesder fufsshif v (CISF)

23. Frfafaa & & FH-a1 9Rd 1 FT qer ARe T T2 27
(A) W deterss dd (ICG)
(B) 43t M1 97 (SSB)
(C) U= g ME (NSG)
(D) s 3frenfies granm s (CISF)

24. What is the chemical symbol for silver?
(A) Ag (B) Si
(C) Sv (D) Au

24. F°[{ IS ALFS F 2
(A) Ag (B) Si
(C) Sv (D) Au

24, FIF ICTF 2S5 F 2
(A) Ag (B) Si
(C) Sv (D) Au
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24. THIH THES fefrtemm ar?
(A) Ag (B) Si
(C) Sv (D) Au
24, =id &1 THEHS g F= 77
(A) Ag (B) Si
(C) Sv (D) Au
25. Who is the President of the USA, as on 1lst of January, 2024?

(A) Barack Obama

(B) Donald Trump

(C) Joe Biden (D) Rishi Sunak
25. 1 QEIEI, 2024 T SR TS1ET 577 1 2
(A) TR S (B) (TS G
(C) & 2T (D) AR 5
25. 1 QIS 2024 ACHCF i Te<1E 18717 (2
(A) T S (B) CCMIT G
(C) el Al2CTe (D) 4R I
25. 2024 WEATEH 1 STIAT @Ifcem STHRER J918 getH SRR ar?
(A) IR A (B) &lce T
(C) ™ smged (D) Teft g=r
25. 1 SHadl, 2024 1 TYE T IR 1 TPAfd HH 27
(A) ST AT (B) SHIcE ZH
(O REIREES (D) W g
26. Which of the following is considered as the powerhouse of an animal cell?

26.

(A) Nucleus
(C) Ribosome

(B) Golgi apparatus
(D) Mitochondria

ffee @=oR A @R *fes Sqe Tl [Reava w1 =7 2
(B) &I’#1% kY
(D) w2 e

(A) &FF FF
(C) IR'&T
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26.

26.

26.

TqEF @FEHE A @I *feq ToT 2o [eawen w41 272
(A) ferefFas (B) oI I
(C) RS (D) TRCHIFIG
erE seE e Sl amm M aifg g8 ffam sme
A) Fefa e (B) TaAfST Tiegw
(C) TEga'sH (D) T3 iz
frferfaa o @ fFd agy FIT3TRT 1 JTeRETSH WHT ST 37

(A) THsh (B) Tiesft @
(C) Tgdrdm (D) TSI~

27.

27.

27.

27.

27.

Which of the following countries does not have a seashore?
(A) China (B) Afghanistan
(C) Myanmar (D) Iran
e (e orre SeRE Tegel iR 2

(A) B (B) SIRFalfersr
(C) =TT (D) 2

TR @ oI @D (1R ?

(&) B (B) el
(C) TRIFTE (D) 2=

RINRIE I E R G AR I 21 6

(A) =M (B) STHII-EH
(C) =ER (D) st
frrferfia § @ frm 3o wgEae 4 27

(a) == (B) I
(C) MR (D) A
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28. The world’s largest island Greenland is a part of which of the following countries?

(A) Denmark (B) Sweden

(C) Canada (D) Iceland
28, 7[fASF 37 @I, TS FEE TR S 2

(A) (T (B) peCTA

(C) el (D) SII2bCee
28. RCed Iz @l ATl (Pl R =i 2

(A) (T (B) F2cun

(C) =rrel (D) ST
28. FgAH FRE fw Brcrer s geRM @ e

(A) ST (B) gz

(C) =rTeT (D) 3TgwetS
28. fowa =1 ga@ w21 g, icis, 5 <91 @1 w27

(A) <R (B) wfred

(C) =TT (D) 3MEHcie

29. What was the last capital of Ahom Kingdom?

(A) Charaideo (B) Jorhat

(C) Rangpur (D) Garhgaon
29. SN KT RO Il & =ifee 2

(A) SRS (B) @=2%

(C) 71 (D) rwalls
29. 2N AGCEH R A (@D e 2

(A) DarEwS (B) =21

(C) To| (D) srealle
29. TEH TSI e TSI STETHH?

(A) =rEed (B) SRETd

(C) TR (D) T
29, EW g H Afad Terar BE-dt of?

(A) = (B) Sitere

(C) T (D) Tt
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30.

What was the name of Srimanta Sankardeva’s grandmother?

(A) Aidew Aita

(B) Jakoimoti

(C) Kherxuti (D) Soirindhri
30. TG *FICEI 0! 2O AN & Wi 2

(A) wIECre Szl (B) wewe!

(C) 7Sl (D) Cife
30. I *FAC7CA ProreE T i fee 2

(A) =IRwe wiEe! (B) Wl

(C) c=r7el (D) Cifs
30. fiu=a yeReat foefy g1 ame?

(A) 3TEIEE STTET (B) STehmfd

(©) e (D) fee
30. b vierted it Tt 1 AW FAT o917

(A) @TEe 3TEAT (B) STehrgaTdl

(C) wgdt (D) &feh
31. Who was known as the ‘Lion of Mysore’?

31.

31.

31.

31.

(A) Adil Shah

(C) Krishnaraja Wodeyar
TR PR (I STeTS ife 2

(A) =TfweT %=
(C) S TWIE

@ TR iR’ qee Ao freer 2

(A) =Hfwet =2
(C) FST&N S

R ‘mrgert fog’ e fHfesmme?

INBELESRIIH
(C) FORST IR

TET % R o W Y TR ST S on?

INBE USRI
(C) FURS AR

(B) Hyder Ali
(D) Tipu Sultan

(B) Z3wq wifer
(D) 157 per@rm

(B) 2RWIEH
(D) b7 eTom

(B) ®BIEaL ATt
(D) fag gear

(B) TR 37t
(D) &Y Godm
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32. Which State of India has Jallianwala Bagh?

(A) Punjab (B) Haryana

(C) Rajasthan (D) Uttar Pradesh
32. SR (FICOI TS SIferaearerie & 2

(A) 7GR (B) =<

(C) e (D) Ted AW
32. QIRIFSAE 19 SRCSH (| A S ?

(A) “NGR (B) 2l

(C) Are®= (D) Teq 2w
32. ST IR YRAN o« TESISTE &7

(A) TS (B) gTRI™T

(C) TSI (D) 3T Yo
32. Sferiare o Yid @ fora s § oo 27

(A) U (B) &famm

(C) TSI (D) 3T Yo

33. Which of the following countries was a part of the Axis Group during the
World War II?

(A) England (B) Japan

(C) France (D) Soviet Union
33. fasr feugma TS RIS (FRLe o) o ollbd SIemI SifRe ?

(A) ZeTe (B) w74

(C) =™ (D) CRIfeEb ZTferm
33. Tioa oIl o (G oR Reseas T SEeees e e 2

(A) 2TTS (B) Sl

(C) F™ (D) ol ey
33. A g7 IEETH FHE MERTE A Fd 86U Tfrad gl STerTHA ¢

(A) st (B) STIH

(C) ®H (D) @i 33fem
33. FHfafaa & @ wH-|1 <1 f5dia fovags o e i | =1 e o’

(A) ¥ (B) S

(C) wE (D) ifoa a9
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34. The ruins of Angkor Wat are in which country?
(A) New Zealand (B) Indonesia
(C) Vietnam (D) Cambodia

34. G BT FOTCRPIR (PO 7 ?

A) frefecae (B) ‘2wl

(C) b (D) FcFIfe
34. IHFICOH-9T FITRCR (@ W AR 2

(a) Frefeemre (B) ZcwiceT

(C) fegee™ (D) cFIfe
34. 3R I TR STERNeT o9 geld €7

A) e (B) 3= AR

(C) T m (D) wra feam
34. 3TER A F e frm Tw T Y

(A) =sficte (B) seMfIm

(C) fereremm (D) Fafea

35. Which of the following countries does Assam share international borders with?
(A) Bhutan and China
(B) China and Bangladesh
(C) Bangladesh and Bhutan
(D) Myanmar and Bangladesh

35. PR (FMER (™R O BP0 B ATEEl == F¢F 2
(A) SO S<F B
(B) T == JIeeTICR
(C) BT SIF BT
(D) ST S B
35. I @ gl SPICTT TWEIeF ANEIe! ?
(A) PO @ B
(B) BIF @ et
(C) ETH € THI
(D) TR @ JREC
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35.

35.

AT o6l FaRSH SIS R Terr?
(A) T ST =

(B) <A 2RI STetew

(C) SIS TR ™

(D) FIFHR AT STeTTesT

srem frefafiaa @ @ o5 2ot 3wy siafsa dar aren s 87
(A) 2 ST <

(B) < 3R ameres

(C) STATERT 3T H

(D) PR 3R FEATT

36.

36.

36.

If an airplane is flying directly from Chennai towards Guwahati, in which direction
is it flying?

(A) From South to East
(B) From East to West
(C) From West to East
(D) From North to East

M G2 R AT 2191 SO A ¢oliel SR =2 e, (o0 f[uee @ eent et T
1T ?

(A) WFFR #[1 [
(B) =< #[1 “ABwCaT
(C) =63 “_1 #[<ceT
(D) TET {1 7

M G0 R GAlR (A SR e TR Tew I/, ©eq 9t @EieE Tu 2
(A) wfEFel cAeF o e
(B) & e “Foames
(C) =P (A 2=
(D) Tes (A [ me
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36. T fowa'st Sfc JaEFEm TaErEiftm o o Wal, oteen forn @ fame forai?
(A) EIATHER AT
(B) TSGR FHTSI
(C) FHTEHEHE AT
(D) HTETHETE HS

36. A g gaTE S =es ¥ € [AEE Al A IgH W @ 2, dl 9% e fewn § Sem W @ 2?
(A) 3feror & gd it 3R
(B) Ud ¥ ufgem i 3R
(C) |fvem @ qd &l AR
(D) 3T H 9d I AR

37. What is the Westernmost State of India?
(A) Rajasthan (B) Punjab
(C) Maharashtra (D) Gujarat

37. SR WHBw(d AT AP S (FIIe ?

(A) IS (B) <&@

(C) T=E (D) @b
37. SRCeA ey e (F 2

(A) ST (B) “l&R

(C) TG (D) @B
37. WRAM AHAE SEe TESieT 567

(A) TSI (B) H=I&

(C) HeWg (D) TSI
37. YR & T ufverfl T Si9-41 87

(A) TSR (B) UST&

(C) HeWg (D) TSI
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38.

Which of the following peaks does not belong to the Himalayas?

(A) Annapurna (B) Kangto

(C) Anamudi (D) Kamet
38. Al (FMCH! ¥j20! foorE wwefe =7 ?

(A) @ (B) B!

(©) =t (D) <1cTe
38. T (@ WL RARTRR w8l 7 2

(A) =@ (B) B!

(©) =t (D) 1cH
38. TR ¢ fuRafwn featerat w=?

(A) s (B) =

(©) wmfe (D) e
38. frfaifaa § & wm-¥t =et fewmer @ wafua & 27

(A) sr (B) =

(C) g (D) e
39. The Great Barrier Reef is located in the seas near which continent?

39.

39.

39.

39.

(A) North America (B) Australia
(C) Africa (D) Europe
(T TRICOHE N7 A9 2R 2406 2D S[%s 2

(A) Teq SR (B) SCEfR
(C) ez (D) 2Tl
28 2A1E 2B (b TR {F) (@R TR FR6a8! 7w $[Es ?
(A) Teq S (B) GG
(C) ez (D) BT

T2 IfER Rt 319 gerET @nfafy o g7

(A) HT TR (B) rfern
(C) midpepr (D) ¥

U2 afer G ford werg & e ogg o fea 27

(A) STl s (B) sreferan
(C) sTHH (D) T
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40. Which of the following is a mountain range of South America?

(A) Andes (B) Karakoram

(C) Alps (D) Caucasus
40. RIS @G v SERIE GF ARG 2

A) iy (B) FHRICFE

(C) = (D) IO
40. TR @D 7= SACARIE GH0 RO 2

(A) = (B) SIRCIEN

(C) = (D) FPT
40. TEEM T99T e ARSI BT BI?

(A) T (B) FRIHH

(C) TTE (D) hebET
40. Frfafaa # @ wH-Ht sfeor smafen 6 gdd g@en 27

(A) T (B) hRIHRH

(C) 3ot (D) I

41. The giant waves caused by volcanic eruptions or earthquakes under the sea are

known as
(A) tsunami (B) cyclone
(C) blizzard (D) landslide

41. MRS SfeTe (FE1 SCRER Twaae S2[l gRee2 E F91 32 GIF @R =
(A) P (B) 1-el
(C) TTRITS (D) $frer

41. T T SR APRATS A SRFC™ Tl 7 T2FH ST @l 2
(A) R (B) fae
(C) AT (D) $frer

41. @ ToeTa 0 UrREl sG-S TS SAHHTEAES Qi 9 SarhrEt eI
(A) g (B) ST
(C) = Sgw (D) &1 firfrarm

41. 95 % = SAragE R a1 Jod % R 3cae faTe a R el S §
(A) ATt (B) =Ishald
(C) T qHE (D) &
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42.

42.

42.

42,

42,

Who is the Chairman of the Rajya Sabha?

(A) The Prime Minister
(C) The Speaker of the Lok Sabha

qEPTSR S (Il 2 2
(A) 2geTE)

(C) CTFTER ST

ST NEF (F ?
(A) =4

(C) TR TSR S

TSI GHTH STRIEATET FiX?
(A) TITETE TATY
(C) §g wEH FrafR

T T T T I BT 27
(A) TaH Tt
(C) AHaHT TS

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

The Vice President
The President

Tergeife
qgfs

Torgife
BRI

ASTE ETRRAR
TR

ERECITE
eafd

43.

43.

Who administers the Oath of Office to the President of India?

(A) The Prime Minister

(B) The Chief Justice of the Delhi High Court

(C) The Chief Justice of the Supreme Court

(D) The Speaker of the Lok Sabha

S JIFofSF (I *17® A5 FCIRE 2
(A) ZEeTIE!
(B) Tl Tob TRICRE 25 TR

(C) Tooow TRIERE T R
(D) CETFTOR S
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43. (P SRS AEANOCT * 212 15 T 2
(A) e
(B) &l T REIER 24 [oE7IRS
(C) T TR 2y [Komeife
(D) CEIRPTSR ST

43. YA TRRANET foem THRiERmEt 9 e ?
(A) TTETE T
(B) fagh s fafsranfafs mere fommema
(C) TeifeH fafsenfats mere femmema
(D) g et g

43. WA % TP ! U 1 799 i e 27
(A) T Tt
(B) fagt 3= =mamer & g =
(C) HaT= =T & &I =R
(D) TrRET AEAH

44. Which of the following musical instruments of Assam is usually made of bamboo?
(A) Doba (B) Mridanga
(C) Dotara (D) Toka

44. RIS SO TR (PR AKEEICS AR e 2
(A) (B) w4l
(C) crresl (D) Gl

44, o THRS S (@ ITED THRTS I e CofF 23 9
A) [l (B) w3
(C) T (D) B
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44,

44,

MRS B AEME o« gHeral s SR ?

() s (B) ga

(C) =dia (D) deht

fmferfiad 3 @ 199 1 -9 Giiid IrEEE SAHAR 9 SE § §9] Bidn 8¢

(A) = (B) T
(C) ara (D) v

45. Where is the Tocklai Tea Research Centre located?
(A) Jorhat (B) Lakhimpur
(C) Tinsukia (D) Dhemaji
45. (BRFEI2 BB oIl (% F'© SRS 2
(A) =0 (B) =ifm7d
(C) fefpmm (D) ¢
45. (GIFeT3 B IRl (% (TR SFS 2
(A) @rm=o (B) ==
(C) e (D) e
45. qHeZ AL AR FHAHT Fo=me &7
(A) ST (B) ety
(C) fagleran (D) &St
45. TS I TFEIH 5 hal [ 27
(A) SR (B) TR
(C) fagleran (D) TSt
46. The Gita Press, a unit of Govind Bhawan Karyalaya, is located in which State?

(A) Uttarakhand (B) Himachal Pradesh
(C) Maharashtra (D) Uttar Pradesh
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46.

46.

46.

46.

(oN™ ST FRGRI @Ol (3D o (27, (FRL TS SRS 2
(A) Teqe (B) fasmet arem
(C) T=A1g (D) &9 2o

AT 2, Confim S FROTET G0 ©ol, (P AT SATS 2
(A) TeqHy (B) f2amet som
(C) w2IE (D) Teq aom

Tifere Wi \eE A HEE @il Tidr Y9 o9 TEsieTd €7
(A) ITETS (B) fewrerar waw
(C) HErTY (D) 3T 9T

ar U, Mide Yo FEias i Uk 3w, fha T 1 oo 27
(A) IHES (B) femrerat wewm
(C) wewry (D) W Y=

47.

47.

47.

An hour during a day’s session when questions/issues may be raised without prior
notice in the Indian Parliament is called

(A) Freedom Hour (B) Lunch Hour

(C) Zero Hour (D) Party Hour

TROR FITS (FIC] Gb1 r1a ST SIS Gl S e 2p /R =i T2 Faq A
9 SR AT GEB] TS 6 e (R = 2

(A) =& = (B) TROTZCSISH FeT

(C) T e (D) &I el

AT G5 ety SIfECel DeTipletiel @b 8 T 41 2h /Rl eI womwm =< weelfe
(A) FET Pl (B) NeIZCOISCT Pl

(C) T e (D) T[S Fe
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47.

47.

RAM H9ed gFafH SYFEE SRl 99 Seoll SEfasmn |ify/smEerdr R fafEierersm
Torar BN, o e | g

(A) Jeite T| (B) AFSNGH 3TER &

(C) wfora’ &\ (D) T &H

IR w8 § el vk o7 o &= § for Forelt 9@ g % T/ 3oTT ST U aTel 39 T e
1 el S @

(A) T et (B) HEATE-HISH w1

(C) A 1A (D) el i

48.

48.

48.

Who is the Chairman of NITI Aayog?

(A) The Finance Minister

(B) The Prime Minister

(C) The Governor of the Reserve Bank of India

(D) The Vice President

e (NITI) SIS ST (F 2
(a) fre @

(B) zra

(C) SR Rers @ 917efq
(D) Treigeife

TS (NITI) SRR S (P 2
(A) e =@

(B) zaragl

(C) SHeR fare WeEs e
(D) ToEAfe
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48. ifa (NITI) =T STTerefieEn |Je?
(A) T T
(B) TETE HAMY
(C) wraf feared s MR
(D) wETg BTERHAMR

48. Hfifd (NITI) TN o1 37e8] S 27
INBESE:EL
(B) 9u™ =t
(C) YR fietd Sk =1 Tt
(D) JwrEafd

49. The Numaligarh Refinery is in which district of Assam?
(A) Sivasagar (B) Jorhat

(C) Golaghat (D) Dibrugarh

49. AT LTINS (I oo Sfzs 2
(A) R (B) 21
(C) CaeTraID (D) fe@sre

49. NGOG CILTISNE SPICIE (I (ST SIS 2
(A) PRPTISE (B) @==B
(C) oD (D) fegore
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49. MM AT omE WemETern 9« e 37
(A) frmEmR (B) SRE™
(C) TeiTETE (D) fegre
49. AT fwret sraw % form forr & feora 27
(A) RraEmr (B) &R
(C) T (D) fegme
50. The international festival ‘Kullu Dussehra’ is celebrated in which State?

50.

50.

50.

50.

(A) Himachal Pradesh (B) Uttarakhand

(C) Uttar Pradesh (D) Haryana

ST TR e TCRI (PITIA TS AleTe] Pl =7 2
(A) fesDeT 2w (B) Teaide
(C) Tex 2o (D) <

IO THT P MO (I ACE AT 27 2
(A) feaIme eionm (B) Tedre
(C) TR ez (D) 2fE

TSR e Fg q0 @ T YeSHAd B S ?
(A) femme yem (B) IWEUS
(C) I 9o (D) =R

FRIET ER ‘Fg 390 60 T | w0 S 27
(A) fewree waw (B) @S
(C) I Jem (D) sf@mn
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51. The Bering Strait separates which two landmasses?
(A) Australia and New Zealand (B) The USA and Russia

(C) South Africa and Madagascar (D) Japan and China

51. (A€ AT (P Y51 $IGF 72 T¢I ?
(A) wEfrt oI frefecay (B) SN J&1G S 1R
(C) wHFa SIFS S TMISTZIE (D) I F Bl

51. (A 2Tl (IR 46 FoTOIICT 72T A 2
(A) TG ¢ feferne (B) W Ie=1g @ ARl
(C) W™l SRRl 8 TWIoMRE (D) S 8 B

51. SN T-YeIeT o« T TT-Ti=I@! sramei?
(A) el mt fefeee (B) 330 THo o TR AMHAT
(C) WEieT 3TTHeRT 3T ATETTEHR (D) SUM AR ==

51. Ifa1 Sy foRa &1 yf-wrT A1 3Tem st 27
(A) AT R ~Sfcie (B) HIH TsT I IR €4
(C) afeTor SThiehT TR HSHTE=R (D) STH 3R ==

52. Who wrote the lyrics of ‘Alakananda’, sung by Shankuraj Konwar?
(A) Tonmoy Krypton (B) Sannidhya Bhuyan

(C) Joi Barua (D) Maitrayee Patar

52. *RFAE (PIACI (9N SRl Arefba Ao (e 2
(A) oI fFe (B) Tifey gl
(C) =& I (D) Ccast A
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52.

52.

52.

RIS (PTHCI SIS STl ST (< foTC4eeet 2

(A) TR &b (B) ey $23
(C) =& I (D) CCad! “req
IS HiaR AR TR HTEH e dr?

(A) T T (B) fed e
(C) S sl (D) T3t arex

IS e’ FRT T T Fsh-a1 T forae formd ?
(A) T TREa (B) wf=ed s
(C) S =& (D) TRt uTeR

53. The real name of crime thriller writer Ranju Hazarika is
(A) Satyanath Bora (B) Pabitra Kumar Deka
(C) Hiren Gohain (D) Kumud Chandra Hazarika
53. SURIATE (I A (F14F qg TSR ST T 5 2
(A) ST 9 (B) “@ FI= (ol
(C) 2AE (23 (D) T O T
53. WRIATETP (NI PR T4 TG TSR 2Fo I F 2
(A) o5 =1 (B) @ 91 Tl
(C) B (R (D) T v el
53. rEn R foan g o e om get we
(A) FeT A (B) ufem FET T
(C) e Tirere (D) FHe = Tl el
53. A YR e T TR 1 THe M ©
(A) HeT SR (B) i FHR T
(C) o eré (D) FH& =% TSRl
54. Who wrote the children’s book Xanta-Xista Hrista-Pusta Mahadusto?

54.

(A) Nabakanta Barua (B) Hiren Bhattacharyya
(C) Bhabendra Nath Saikia (D) Arup Kumar Dutta
BRE 2878 TR T PRy 2[R9 (e fefifest 2

(A) TRFE I (B) 2w S5O

(C) ST *ZJA (D) S FAQ 7S
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54.

54.

54.

CRIBCTE 7B *ME 287[B T2qE DI (3141 ?

(A) TR I (B) 2ca SHHR
(C) Seam R (D) A FAE 7S
T HRR fose - 2E0-7 HeTgEd @l | forai?

(A) e ST (B) T wer=md

(C) 5T Tk (D) 3T FHUR &
AT I qEdh, AT Y Wegy fehe fordt?

(A) FEehia T& (B) fetd weramd

(C) weg =1 Afern (D) 3T&T FAR

55.

55.

55.

55.

55.

Kanchipuram Saree is produced in which State?

(A) Kerala (B) Tamil Nadu
(C) Karnataka (D) Telangana
e *8T (PITe Meme TLAW 91 77 2

(A) CSTeT (B) ﬁﬂing
(C) w°fib< (D) CoCaRTEl
Fifes g *MC (| qMcey TS 27 2

(A) eI (B) wIf¥erTy
(C) FoF (D) CSCoToIe
T |G oo TES13ATd fogHi?

(A) e (B) arfHerTg
(C) Hiesh (D) TATTHT
YA TSl 1 IcdTe fohd T | grar 27

(A) (B) dfHeHTg
(C) AT (D) e
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56. Who among the following was a famous painter?
(A) Vincent van Gogh (B) John Lennon
(C) Bob Marley (D) Marlon Brando
56. RIS (SRARIF o e Haes wifee 2
A) TS == a’a (B) & CoTeIel
(C) 3’7 weef (D) SCett Acel
56. od (F gFee e HamE! fecer 2
(A) SIS S atal (B) & (oTele
(C) <9 ced (D) SICetTs Jhel
56. TEEE TFE AR AT Y@l Hai AT ¢
(A) Tirsee 97 ™ (B) SH &=
OR:ERIS (D) e STe’
56. ffdiad H € &M T Uig foer on?
(A) Tage 3 (B) S o=
(C) e ATt (D) e Set
57. In which sport do Tania Choudhury and Nayanmoni Saikia from Assam represent

57.

57.

India?
(A) Lawn Bowls (B) Badminton
(C) Carrom (D) Judo

SPT WIfeRTl (P S T *BFRZ (FARY (LeTe Cqes aAfefiig w2
(A) 3 (B) @firoa

(C) &Y (D) ol

PTG OIfeRll (BIYAT @R TR *BFRA (T (I SiRced 2AfsfiiRg wea 2

(A) =T =T (B) TG
(C) AN (D) et
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57. STEM QU= g TR FoA( FEfRamn wraf W a1 e ?

(A) &= ad (B) sefimeq
(C) (D) I
57. 3180 i aii-E =nedt 3R FEEt afrn frm B o wRa w6 gfafAfees et 87
(A) @ afa (B) defieq
(C) (D) =t

58. Identify the Badminton player.

(A) Dipa Karmakar (B) Pullela Gopichand
(C) Sania Mirza (D) Leander Paes
58. (TURDA (ERTRFT DS T |
(A) T FHE (B) “[cawTl Conatow
(C) wifera firett (D) feaeE (7
58. JATCMD (YCARIECS i 50+ |
(A) TN FAFE (B) “[CseT calFiom
(C) riferan e (D) FrEem e
58. Ssfired ToumEt foamf
(A) €T FHHR (B) Geiet Tt
(C) @t furst (D) ferre |
58. dsfier faardt =t vg=niHu|
(A) T FHHBR (B) Jeiall =g
(C) @t firstt (D) ferier T@

59. In which sport did India not win a medal at 2020 Tokyo Olympics?
(A) Boxing (B) Weightlifting
(C) Taekwondo (D) Wrestling
59. 2020 bFe’ HF SIS (FRY (4T (FICA] WP e <1 wieed ?
A) IET= (B) SICACSIET
(©) BRI (D) &g
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59.

59.

59.

2020 (BIfFS TRI[F OIS (el (LT T CCote] ?

(A) = (B) SIACSEN

(C) DRCFRICT (D) 3%

2020 HEATEM 2fRsT Tfifriess IeREEREE YRl 99 To-EE ded JibTE ?
(A) AR (B) Fifer s@mam

(C) dTEHATE (D) EHARHTR

A 4 2020 2T 3N 1 fore @ § gees &t Sfar?

(A) HeraTst (B) WRRIeH
(C) drI=IE (D) Fedl

60.

60.

60.

60.

60.

The Diamond League is an annual series of competitions in which area?

(A) Swimming (B) Badminton

(C) Gymnastics (D) Track and Field Events

T fScifarer™ W2el TRE Y ol (FERY (461 PSS 2

(A) TceR (B) @B

(C) fegmies (D) G o< fFewq (e
I efScaiferer e TRAS fefol (P (=T e TS 2

(A) o (B) e

(C) TememGE (D) FIF @< freeeq e
Y SN SERAREAEE B SRMe form a4 To-Es gl 17

(A) g™ (B) wgfired

(C) T (D) 3% TR HIUWE TR e
grme o form @t # ufeenfiarstt it ww anffes sjEer 27

(A) TRl (B) srsfied

(C) fommfeesa (D) 3% 3R Fiee B
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61. Identify the correctly spelt word.

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
61. 7 IS ! (oIS 95 |

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
61. SIS ARG *<M *F1S T |

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
61. TR T GiREE! M|

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
61. W&l ! ATl MR A TEETAT

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor

62. Which of the following words cannot be made using the letters of MENDICANT?

(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
62. MENDICANTS S[4T2 <21 1< FHfERS (FIeb! =197 oo Ff< i< 2
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
62. MENDICANT-¢3 SFFa%(el J2[ FC NIChA (I =110 90w 1 AR 1 2
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
62. MENDICANT f TRaT®RE! SerAH MeRf o« dieee! IH1 g ?
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
62. fefafad @ @ FH-11 356 MENDICANT o 31 61 N ek A& ST 51T ekl 87
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
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63. At the Youth Parliament, certain number of country representatives sit in a linear
row and all are facing the audience. Only ten persons sit to the left of Estonia. Fiji
sits eighth to the left of Estonia. Angola sits fourth to the right of Bahrain. Canada
sits to the immediate left of Denmark, and Denmark is the third from the extreme
right end of the row. The number of countries between Estonia and Denmark is
same as Bahrain and Estonia. Only six countries sit between Angola and Canada.
In total, how many countries are seated at the Youth Parliament?

(A) 19 (B) 21

(C) 32 (D) 17

63. 9Bl I7 ALTO (eI (7 adfoffy mfatel q9 R qebl W[ qf2c | GeEfeR qeFCE
(e wRAIF TS 02 | GBI ST TEY Teo e qfRer | AR A9 OeE v
FITe GOl AMRCR | (TN 0% qeFica 92 WeR FC], SF (N MRCOE QT
CTFIEE Y99 791 PORl FITo (R | GBI SF (TGS Weq ([ R q=eqe IE
GERRIIT S (7 FRAT (0O AT | el S FIACH e A == (e 2 ee | 39
AT oo e (o afefafy 3f2 =ee 2

(A) 19 (B) 21

(C) 32 (D) 17

63. I3 7w, fWE e oo afeffaar 3 Mfice IeTce @3 TR wReE AR | T1g e
GEIFRR AN WeE 30T wice | e, @R A OB B 00 | S, ARCEed
T B9 B TETR | FIICI, (TNICE 0 AT TETR @R (TN A B T 2013
(ACF PO | TR €3 CTICEHR FC&p (O AR AR G GCRIRIE T | SICHE G
FCE T A1 TG (71 ICTCZ | 3 FTW (15 6 (P 0T ACACE 2

(A) 19 (B) 21

(C) 32 (D) 17

63. TN AN HEEd TR BElH ATSHRl ARITERETY Al SHW - 9iR - wiEre e |
e et st anfster’ aefeer foeerel | el v et emfatafaem aeatemma ) omamn
TS ATRIAEE sforma SRRl wHEr STHehE AU ASTe-T Sl SHATeh aTiie
TR ety mifeama €| ued 9 TR SHTeh(d TISRid S BT €, STeisd TR U St
TSl THETSHI | AT AR HETSTH Toe Teel gethi fSE! | T8 Tl gelH aSsi o

AT GEeTd REET €7
(A) 19 (B) 21
(C) 32 (D) 17
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63.

o e i o Bl den & 3 % aRRR T de 9§ A § sk wh wi B R g
Fh 93 BId | TR Y 91 I et 5@ =AfE 93 2| fbsft, wRifien ) 91 @i smed T W
B e, SElF % o & =Y M W B | FAST, ST % Ik 918 S 937 2, I ST ek
sifom o BR ¥ fR T W )| TR oK S % e 2w A @ swlie ok et &
THM 7| S 3R FATST & i hadl D8 991 93d & | Fol et fohas 31 gar g9 § dad 87
(A) 19 (B) 21

(C) 32 D) 17

64. Which option is similar to Pencil : Student : School?
(A) Mouse : Eat : Biscuit (B) Computer : Officer : Bank
(C) Pen : Writer : Book (D) Cash : Shopkeeper : Goods
64. (T RFe (vifdest : Brmalt : Rwrer sasa 1 2
(A) ﬁﬂﬁl:W"T:ﬁ@ (B) I+TOR : [l : @F
(C) Fo : (314 : f[Fo (D) =19[% : ORI @ ST
64. | [RFEl e : wi@ : KEr-ga smel 2
(A)%@:ch:ﬁ%j? (B) I~+ToE : wfeFIR< : =
(C) T : (314 : 92 (D) <4 : AP : 7Ty
64. & ToRT U HUFHT : BT ST 9
(A) TSR : S : foge (B) AR : Ara@ filt : S
(C) W : ferfift : foutmar (D) T8 T : TARR : s@TE
64. FH-41 fowed Ufeat - 9 : Ta & quH 27
(A)ﬂ@’[:@ﬁ:ﬁf@lﬂ (B)W:af\wzam
(C) ™ : oRge : fopara (D) T8 : HMER : HHH
65. If REAR = 42, TEAR = 44 and DEAR = 28, then which of the following sets is

65.

incorrectly paired?
(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31

I REAR = 42, TEAR = 44 9 DEAR = 28, (93 HfR® (S @7 oReg ?
(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31
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65. MM REAR = 42, TEAR = 44 @3 DEAR = 28 2, O3 II(b4 (FFM To1 (Sl 2
(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31

65. S§f¢ REAR = 42, TEAR = 44 3l DEAR = 28, 3scll MMM del ST o1 U SIT&l ¢
(A) PEAR = 40 (B) FEAR = 32

(C) BEAR = 26 (D) GEAR = 31

65. Ifc REAR = 42, TEAR = 44 3 DEAR = 28, df fifafad o & #9-91 92 Tad o+ 4

Srer T 27
(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31

66. Find the best option to fill in the last term :
CIRCLE : GEOMETRY :: POETRY : ?

(A) CHAPTER (B) BOOKS
(C) PROSE (D) LANGUAGE

66. S ~MCH] 71 PAIT TS [AFECH! Tl 79
T8 : EIfNfe :: el @ 2
(A) RO (B) @i
(C) (D) Rt
66. ¢ “Ii *<CR T Ol Reas o -
e : TS :: el @ 2
(A) = (B) =
(C) o (D) =/’
66. SIS HREE! g WAl GEiH ! e :
G : AY GRS
(A) AT (B) femtmar
(C) Taamg (D) T=
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66. 3ifdq 9e sl Wi & fou gaiay faerey @ifs
A+ SATHIA :: 1T« 7

N IR (B) J&Th
(C) T (D) e

67. Identify the pair with the same relationship as Child : Vaccination.

(A) Fever : Medicine (B) Food : Cooking
(C) Plant : Pesticide (D) Animals : Food
67. g : B el TFRYS @RI Pre w4 |
(A) &9 : 89y (B) < : I
(C) Tfew : o (D) &% : ¥
67. g : BFael-9q Fool G2 ST Gfo e F |
(A) =9 : 8y (B) < : <l
(C) Tfew : Fioars (D) =@ @ <
67. T : TaumEw amfe dHeEr T SREE Rt
(A) AHSHE : Gfd (B) &R : T
(C) sl : Tl frerman (D) e : 3ATGR
67. T : IR o AU Hae ATl SIS ! TedM hifere |
(A) @ : qdn (B) @M1 : 9ehrl
(C) e : TS (D) 9 : HISH

68. Which of the following words would not fit correctly in the sentence?

The person died of a hit on his head.

(A) lethal (B) fatal
(C) deadly (D) subtle
68. I (FIFCO! =% 27S O Q17 T 2
T SIS FoTS G T9F (20T |
(A) wOTT (B) e=ret
(C) T_Ig (D) ™

SLRC-2024/P-111/ 1-D 50



68. ‘el MW e (7[F [ IR 177 @3 IRHHCe ACEI (Fle *F00 ARSI A9l A/

«?
(A) ®TIS (B) le=rel
(C) T (D) =
68. TEEM ¢ WRET A BHE SIUTEE G ST TST17
o R WA QST 9T
(A) Fr@ema (lethal) (B) WU (fatal)
(C) figeTqg (deadly) (D) 31 (subtle)

68. Fmfifiad & @ w-u1 s I A W&t @0 ¥ fohe &l amm?
fR®W___ 9eR @ =atw it Oid 2 T
(A) =ITdh (B) SHeian
(C) AR (D) #g

69. What would be the correct sequence of the following words as per the standard
English dictionary?

1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2, 3,4 B) 4, 3, 2,1
C) 4,2, 3,1 D) 4, 3, 1, 2

69. S BAE! TSy SEPIR 2Te TR W R0 F 272

1. Royal 2. Regal 3. Renal 4. Rebel
A 1,2,3,4 B) 4, 3,2, 1
) 4, 2,3,1 D) 4, 3,1, 2
69. 31> S (G TSy SRR 2ie WS AT T F 23 ?
1. Royal 2. Regal 3. Renal 4. Rebel
A 1,2,3,4 B) 4, 3,2, 1
) 4,2,3,1 D) 4, 3,1, 2
69. TE AT 3OS AEle fogem™ oHE aRfed s SR 71 ST ?
1. Royal 2. Regal 3. Renal 4. Rebel
A 1,2,3,4 B) 4, 3, 2,1
) 4,2, 3,1 D) 4, 3,1, 2
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69. T TS IeaehITT & FTFEAR 37 TIeal 1 Tl HH T 2T?

1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2,3,4 (B) 4,3,2,1
C) 4, 2, 3,1 D) 4, 3, 1, 2

70. Select the appropriate number to correctly continue the sequence 27, 30, 37, 50,

?, 98.
(A) 69 (B) 73
(C) 81 (D) 91

70. 27, 30, 37, 50, ?, 98 *RYECH W&H(F NBIRE A GRS AR +-67 399 |

(A) 69 (B) 73
(C) 81 (D) 91

70. 27, 30, 37, 50, ?, 98 @b T/ BIFIE @Ce TS 7RYIG =I5 et |
(A) 69 (B) 73
(C) 81 (D) 91

70. HE! oS ATTTEARH STRSTE SHSHRE! 99 |
27, 30, 37, 50, ?, 98
(A) 69 (B) 73
(C) 81 (D) 91
70. ITHA H UL @1 ¥ T W % fore 3faa wen @ == il
27, 30, 37, 50, ?, 98
(A) 69 (B) 73
(C) 81 (D) 91

71. Pallavi claims to be taller than Jyoti, but Smita who is taller than Pallavi knows
that Pallavi is wrong. Which of the following can be said about their height?

(A) Pallavi is definitely shorter than Jyoti
(B) Pallavi and Jyoti are of the same height
(C) Smita is the tallest of the three

(D) Cannot be determined
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71.

71.

71.

71.

JEIC TR WA @ O (wifeels ev, [F7 dEarecs ¢4 feR i @ “ENN Tfe wel |
(SECTR T oS RIS (FRICE F7T AR 2

(A) “ERI P (SfoetE BI%[

(B) /@< S Cenfeq Twel ST

(C) farer R RIS TRICeis e

(D) ey 77 e

F1 Tocece (Sifed (5@ =751 Jce Wik eq, % o), @ @3 6 o9 O Qi @ 7@l
ST | OIn Tl e S (PG @ T 2

(A) = SRR Cenlfed Cbe ICh!

(B) “I@<l @R (e «F3 THOR

(C) Fro fomecem Sea T

(D) Teefime =1 T =1

ugsfan mewt safafgg Sifem g o, e gsitagg St faarn ugeft amamn G
B THfemTt | fordief Shermswell S e e e ?

(A) gl Sfafrge TEfem

(B) Ugst R Safa=n w@e Sh

(C) feirarn wumfy TeE i

(D) T &

ugel, St @ @t S H1 a1 A 7, Al fEan, S uget @ @t 8, St @ R agdt e 2
TRl S & =R § frfefiad # @ o et S gehar 27

(A) uge fifea w7 @ s=fa @ s 2

(B) dget 3 sefa it <iems wwe 2

(C) Toar =t & T=@ @il B

(D) T & fopam S wekan

72.

At a college function, Romola pointed out to an actor and said, “He is my
mother-in-law’s only son’s nephew”. How is the actor’s mother related to Romola?

(A) Aunt (B) Daughter
(C) Niece (D) Sister-in-law
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72.

72.

72.

72.

JETG 9P SRS AR G SOOI SISRRIE W, ‘(08 (WIT W2 Tizq GFAE TG
Tl | TR OO TS IOl qoq 79 1 2732

(a) 1% (B) Gl
(C) eiferet (D) W

o

GF> T SRIC, T G Sfecror Wi 3ere wa qeelece, ol omm =mrefa
GG (R S’ | SSETOR N 9T M Frod TS 2

() =t (B) I

(C) =i (D) =

T T O SETRITEE W e REAf foemm gum, o onfy fegasnfy
e’ feeTents fomme | et fomrsit wete @1 dme S

(A) forme (B) st

() forme (D) e

T Fictsl GARIE H, UHIGT 4 Teh AT ht TR W FLd G Hal, a8 W T4 o halld o
e 87| i Y °f 1 Jaen ¥ o ey 27

(A) = (B) =&

(C) st (D) e

73.

73.

73.

Find the best option to fill in the third term :
Gravity : Newton :: ? : Copernicus
(A) Blood circulation (B) Heliocentric system

(C) Rocket (D) Radioactivity

TOR ~CHI #@e R TR [FEch! e 59
T : 1o 1 2 FARCRR

(A) TS AR (B) s fiem
(C) =D (D) Co&fEel
o ol et T R R g

Mereel : oo 2 2 : (IR
(A) & AR (B) (s ©F
(C) =B (D) CowEl
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73.

iy HSEE! 317g WA dreai et g
TS e ¢ : FHUIHE

(A) & THERE™ (B) ez =
(C) The (D) =t Tty
73. T U8 H W % 7T gaad foaehed @IT
TECATRYT : A :: 7 HIORE
(A) T qRE=RT (B) GI-hiseh qomeft
(C) Tehe (D) Yeafifar
74. Consider the four numbers given here :

74.

74.

74.

I. 376 II. 629 III. 921 IV. 397

If the digits of each number are arranged in ascending order, which new number
would be the smallest?

(A) III (B) II
(C) I (D) IV

2ve BIfRDT 127 RCaoe 399
1. 376 I. 629 III. 921  IV. 397
2IfSCHT TR TG THGAS AGCE (D] Tgel IR T TPeTo 23 2
(A) III (B) 1II
(C) 1 (D) IV

s e R 7L [ T
I. 376 II. 629 III. 921 IV. 397

2{fofb AR SRR TR ATl 2ee, (@ Toe A0 Fuew 263 ?

(A) I (B) II
(C) 1 (D) IV
B A SERSHRIE! TSI 8

I. 376 II. 629  III. 921 IV. 397

Sfe AHETEl AR foameRE! Sie™ wIiETE Jse, STeel d¢ MM SHSHRT Safigs
ERIEEESIICE

(A) I (B) II

(C) 1 (D) IV
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74. JE & TE W) e ) e fifvu
I. 376 II. 629  III. 921  IV. 397
Ife Tedeh HEAT 1 AL HH H FIfed foram S, @t -4 T2t Jen ged I 27
(A) III (B) II
(C) I (D) IV

75. Find the odd one out.

(A) Sparrow (B) Crow

(C) Bat (D) Peacock
75. Sf¥el = [oR Sernes |

(A) ol (B) I

(C) < (D) < bR
75. [ {oe @9 o |

() veR (B) T

(C) e (D) R
75. TR HidEE TR G|

(A) @ (B) =r3@n

(C) memTfer (D) ==TE
75. AU = g

(A) TR (B) =T

(C) =meS (D) R

76. Pointing to Sarat in a photograph, Malini said, “His brother’s father is the only son
of my grandfather”. How is Malini related to Sarat?

(A) Aunt (B) Grandmother
(C) Mother (D) Sister

76. 3 TOHETS *[eq e WghrR MeE $E,— (8 Tred Pre (@9 FRITer
GG TG’ | o1l *[ed AT (el AT T=F@ 2

(a) @ (B) wizl
(C) g (D) =

SLRC-2024/P-111/ 1-D 56



76.

76.

76.

GFH TR *FR-93F e re e Tl IEE, TR ShReR e sImE e I e
e | el SO *[R-9F A% T=7IF® 2

(A) I (B) Proma

(C) e (D) =i

MR WAt e oA " gam, i foerf fowen et et aa’ e’
ATt A TXAT FHEIAT 117

(a) fomme B) foa

() fomm (D) T’ /fommma

T TR IRd A AR TR FA g AR T w1, SEEk wré & fiar W sl F gehedd 9o
27| wiferfl, Ta @ fore TR el 27

(A) = (B) =mt

(C) = (D) =&

77.

77.

77.

77.

77.

If ROBOTICS is coded as OROBITSC, then PROJECTS would be coded as
(A) ROPEJTSC (B) RPJOCEST
(C) RPJOECST (D) ROJPCEST

gt ROBOTICSE OROBITSC f351(3 ¥°T 41 =¥, (98 PROJECTST F°T 2’9
(A) ROPEJTSC (B) RPJOCEST

(C) RPJOECST (D) ROJPCEST

g% ROBOTICS-¢d AF® OROBITSC @, ©d PROJECTS-¢F AF® 2@
(A) ROPEJTSC (B) RPJOCEST

(C) RPJOECST (D) ROJPCEST

Sf¢ ROBOTICS 1 %a1 OROBITSC, 37l PROJECTS T &ar1 Smi=

(A) ROPEJTSC (B) RPJOCEST

(C) RPJOECST (D) ROJPCEST

I ROBOTICS sl OROBITSC & &4 ¥ whifed foram SaT 8, d@ PROJECTS &l f5® &9 ¥
e forn ST, 9%

(A) ROPEJTSC (B) RPJOCEST
(C) RPJOECST (D) ROJPCEST
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78.

78.

78.

78.

78.

In a zoo, the lion’s cage is towards the East of tiger’s cage. At the exact South of
the lion’s cage, there is bear’s cage, which is towards the West of cheetah’s cage.
In which direction is the tiger’s cage from the cheetah’s cage?

(A) South-East (B) North-West
(C) South-West (D) East

b1 RIS Fike SIQEh! A9 SI9ET 77 FICa S0 | PR sl 0% wE Fce Sfeed
5141 =C, ! TORTET SiqeTa 21T FICaT SM1CE | 199 SIQ1eTCo!] DOREa S e “[l (ol e
9fF 2

(A) wFEFI-77 (B) Teq-7If5x

(C) wEFa-#{f*5x (D) °7

a5 b Fisce <1 qieaw <o = e 1| Fisces <o B wfiwed qece eeesa 1w,
oo bR 6 e | oo <161 (AT ACTI 4161 (FIe e 2

(A) wfEpe-o (B) Tag-#iou

(C) wfEal-oIf5 (D) 7

o SRaTterre fre'f wrsiEr dfy wreiiy aesren e weeii @ ged
BT ST ferarfe i dmmeter | qents wesien foarf wesids sefs omar?

(A) TETAT-FHST (B) GI-HHTEIT

(C) WeAT-HHTEIy (D) FESIT

T Tafeamer § TR o1 fUs, o o fUSR o6 99 ol 3TR 2| IR o TUSR o 3ie 3fer § wie] 1 fus
7, St <fiar & TR @ ufam it AR 71 <far & fisk & s o fos foem foom & 27

(A) afegor-gd (B) IW-ufzm

(C) afequr-ufzm (D) &

79.

79.

At what speed should a car travel on a highway to reach a destination 12 km away
in 15 minutes?

(A) 64 kmph (B) 84 kmph
(C) 48 kmph (D) 36 kmph

ere 12 . [, 7999 %0 T4 15 FEGS 0o AR 9¥a J699NCi R (@9 @l FR
w7 2

(A) 64 . fi. afs g6 (B) 84 . fi. afs g
(C) 48 . fi. afs gb (D) 36 . fi. @fe gb
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79.

79.

79.

G SNfe A& F© sifers goee 15 [FCE 12 FFETReR 1ee o8 ¢Aried 2

(A) 64 . fi. afs g6 (B) 84 . fi. afs g
(C) 48 . . afs b1 (D) 36 . . afS 961
Y TSI T8 TR s @RS @R 15 fbfem 12 o fio memm ggm=?
(A) FveRETE 64 o fio (B) =vermE 84 fho o
(C) =verE 48 o fio (D) =IveEE 36 o fio

15 fime 12 Frarier ¢ et TTaea @ Tgen & fOTT T R 1 Tsmrl W o TR | e
=few?

(A) 64 Tho o Hfd =T (B) 84 feho o ufd =T

(C) 48 foho Hio Ufd =rar (D) 36 foho Hio Ufd =rer

80.

80.

80.

80.

80.

Which word would be the last in a standard English dictionary?

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
G5 F A& FSHITS (FIeICH! ¥ e 2A1fF 2

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
v 3RS SSHTA (I 1310 (1T AP 2

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
HIATHT ST GieE fogeTa o Qe 3HH S

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
A TS Yeehiel § SHF-91 s Afam grm?

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE

SLRC-2024/P-111/ 1-D 59 [ P.T.O.



81.

81.

81.

81.

81.

When the numerator of a fraction is multiplied by 4 and the denominator by 9,
the fraction reverses. The fraction is

(A) (B)

(€) (D)

NSNS, NG RN
NWw WIN

GB1 SN T 4 (T S 295 9 (T {9 FICoT SAIRION ARSI (o111 T | S2ACBI (=R

(A) (B)

(€) (D)

NSNS BNG RN
NIw WIN

G5B SARPE T[T 4 T 92 TACF 9 [T Q9 F1 B¢el AT Tes AR | S e

(A) (B)

NSNS BN, I NN
Nlw WIN

(€) (D)

oAl AFY SEEERI BHE 4 S AFSTel - @l 9 S, o siEeELien oo fifeet| o
ELCICICICH 1]

(A) (B)

©) (D)

NSNS, BN J NN
NjwW WIN

o fopelt foret & <791 1 4 @ R = R 9 B TN FoRan wran B, A fe Se Sar 21 98 e

(A) (B)

IS NS, NG NN
NjwW WIN

©) (D)

SPACE FOR ROUGH WORK
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82.

82.

82.

82.

82.

At what percentage of simple interest does an amount of money double in 12 years?

A) 919 (B) 81%
2 2
Q) 8l D) 919%
(€)
3 3

] 0@ (FICA] Joke 12 =TT YT 139 27031 9 o] B« R 2'9 =A1folq 2

A) 92% (B) 8=%
2 2
1 1

(C) 8=% (D) 9=%
3 3

T IO TS XTI 2 Fere 12 =T g 27 2

&) 919 (B) 81%
2 2
1 1
(C) 8=% (D) 9= %
3 3

Y @ SR 58 g TR g3 9Heall 12 S o STEIe B ST ?

&) 919 (B) 81%
2 2
1 1
(C) 8=% (D) 9= %
3 3

TR 7S o fohe wfererd W Rl e fer 12 aut | ST 2 STeft?

(A) 919 (B) 81%
2 2
1 1
(C) 8=% (D) 9= %
3 3

83.

The ratio of the radii of two circles is 1 : 3. The ratio of their areas is
(A) 1:6 B) 2:9
C) 1:9 (D) 6:9

SPACE FOR ROUGH WORK
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83. 7Bl J99 PGS ST 1 : 3. € O CFaFor Sre 2'q
(A) 1:6 B) 2:9
() 1:9 (D) 6:9

83. 75 J0eT AP SIS 1 : 3. I CFAFCT T[S 2

(A) 1:6 B) 2:9

(C) 1:9 (D) 6:9
83. SEH WA FEEHRH Fsr@m 1 : 3. o sl sgsmmn

(&) 1:6 B) 2:9

(C) 1:9 (D) 6:9
83. a1 Il it Hreomaedt 1 U 1 : 3 B 1 3T &bl T IUT BT

(A) 1:6 B) 2:9

(C) 1:9 (D) 6:9

84. 100% of 100 when added to 200% of 200 would result
(A) 300 (B) 400
(C) 500 (D) 600

84. 1003 100% I 191 200 I 200% (5l e FoeFe] 2
(A) 300 (B) 400
(C) 500 (D) 600

84. 100-49 100%-9g ¢ 200-99 200% (97 FHCeT FeRFe] 20

(A) 300 (B) 400
(C) 500 (D) 600

84. 1004 100% 3 200TF 200% @t TIETsAT WA
(A) 300 (B) 400
(C) 500 (D) 600

SPACE FOR ROUGH WORK
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84. 200 & 200% T 100 T 100% Se+ T YHomH 916 8
(A) 300 (B) 400
(C) 500 (D) 600
85. If a+b=8, b+c=20 and a+c=18, then the value of a?+b? is
A) 34 (B) 43
(C) 46 (D) 64
85. T a+b=8, b+c=20<F a+c=18, (B a’+ b2 I I 2’7

85.

85.

85.

(A) 34 (B) 43

(C) 46 (D) 64

T a+b =8, b+c=20 GR a+c=18 2 O a° + b?-9q I+ I
(A) 34 (B) 43

(C) 46 (D) 64

S a+ b =8, b+c=20 3R a+c=18, 37 a? + b2 1 A
(A) 34 (B) 43

(C) 46 (D) 64

It a+b =8, b+c=203ﬁ'(a+c=18,?ﬁa2+b2?ﬂﬂﬂ%
(A) 34 (B) 43

(C) 46 (D) 64

86.

86.

If 2% =32, then the value of x is

(A) 4 (B) 5
(C) 6 (D) 7
M 2% =32, (3B x I A 37

(A) 4 (B) 5
(C) 6 (D) 7

SPACE FOR ROUGH WORK
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86. M 2% =32 7, O@ x-97 T &
A) 4 (B) 5
(C) 6 (D) 7
86. Jfd 2* =32, 3t x 1 WA

(A) 4 (B) 5

C) 6 (D) 7
86. A 2% =32, A x HI AN B

(A) 4 (B) 5

€) 6 (D) 7

87. The sum of 5 consecutive odd numbers is found to be 95. The largest of the
numbers is

(A) 17 (B) 21
(C) 23 (D) 19

87. 5B TR S TR (5T 95 (711 91’31 | FRIACFLHE SABRST ST FALACH! (R
() 17 (B) 21
(C) 23 (D) 19

87. 56 TN S TR @oRFe 95 “N€H] (9l | FRYIBf Ty 2 29

(A) 17 (B) 21
(©) 23 (D) 19

87. HINA HH 5 o T SHSHIBRM TSI 95, G SXfe ISR SITem
(A) 17 (B) 21
(C) 23 (D) 19

87. 5 HHNA fawq TEHeti 61 T 95 YR ST 8 | U SiEl G §
(A) 17 (B) 21
(C) 23 (D) 19

SPACE FOR ROUGH WORK
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88.

88.

88.

88.

88.

If the decimal number 34p5 is divisible by 9, then the value of p is
(A) 8 (B) 7
C) 4 (D) 6

T I RN 34p5 (B 9 (J oSy 27, (9% p I I 23
(A) 8 (B) 7
(C) 4 (D) 6

g i =20 34p5 B 9 771 [orey =7, Oz p-9d T+ 33
(A) 8 B) 7
©) 4 (D) 6

Sfe guifires s 34p5 @ 9 i TASAN, 3Fsel p i A
(A) 8 (B) 7
(C) 4 (D) 6
Ife aymed G 34p5, 9 W fawrsa B, @1 p w1 AE B

(A) 8 (B) 7
(€) 4 (D) 6

89.

89.

The maximum area of the circle that can be drawn within a square of side 4 cm is

(A) 412 cm? (B) 4n cm?
T 2 n? 2

(C) —cm (D) cm
4 4

4 (5. . qr2q I9(CFg OR fooae a2/l I© GO AEH CFael 27
(A) 4n? <sf . . (B) 4n 3sf 5. fX.

© Ll 6 B D) ™ oof 5. .
4

SPACE FOR ROUGH WORK
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89.

89.

89.

4 @1, . IERME @ I9(CFa [T9@ AFCo [l Joed AEH CFIFel 2Cd

(A) 4n? 3o @ f. (B) 4n 3o 1. fil.

©) %a‘rf . i D) ™ oof 1. .
4

4 9. fg. et mar @i foee M eam swat T iRt
(A) 4n? et @, fin, (B) 4n =t @, fir.

© Tt D) ’faﬁa. fr.

4 Qo Hio ATHR & Tk a1l & ik Wi ST bt a1t I 1 ATIhaH &%t 2
(A) 4n? =t Fo Ho (B) 4n T "o Hro

() %aﬁ@o o (D) “jaﬁao o

90.

90.

90.

If today is Sunday, then the day after 92 days will be
(A) Saturday (B) Friday
(C) Sunday (D) Monday

T o1& IR 2, (o0 92 g I9 frefchl 2°7
(A) == (B) &N
(C) @™ (D) CIFEIR

v S AR =7, ©zeE 92 el #[cdd faelt 2@
(A) *ferr (B) w&aE
(C) AR (D) CIE

SPACE FOR ROUGH WORK
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90. Jfe feaft o feem, stean 92 wmfy 3@ w1 W SAFTAY
(A) TIHER (B) FHIR
(C) s (D) TFER
90. Ife 31 o B, a1 92 fedi & =1e w1 fad g
() wHER (B) AN
(C) Tam (D) AR
91. When three times of a given number is subtracted from the square of the number,

91.

91.

91.

91.

the result is the number itself. The number is

(A) 4 (B) 2

(€ -2 (D) —4

I §F TR 9T 2[1 FRYIGA o @ [l IR 777 @3 MRANGIER Il T/ |
FRYICT (22

(A) 4 (B) 2

(€) -2 (D) —4

«3f5 2 | fo @ Ramba Fof (AcE Ree 791 2@ RN RoiR o wramfoe e
T | R =e

(A) 4 (B) 2

(€ -2 (D) —4

Sfe wFE SHfSmEE it S5 amsteme et ae A, Tee b o s s e
&

(A) 4 (B) 2

€ -2 (D) -4

So foreft " @1 o T 39 g & ot § uer femn Sar 2, ) uform ad g w21 9w
& 2

(A) 4 (B) 2

(€ -2 (D) —4

SPACE FOR ROUGH WORK
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92.

In Roman numeral, XCI represents the decimal number

(A) 41 (B) 21
(C) 91 (D) 111
92. (I RN XCI @ TN I AL (207
(A) 41 (B) 21
(C) 91 (D) 111
92. N MY XCI =l fofee 1w 7=451fs 2a1
(A) 41 (B) 21
(C) 91 (D) 111
92. WM FEE XCI 7 Fwfier smfmmn s
(A) 41 (B) 21
(C) 91 (D) 111
92. UH 37k § XCI 59 S3mera §&a o1 gidiited o g, 98 8
(A) 41 (B) 21
(C) 91 (D) 111
93. A ladder of length 13 m is leaning against a vertical wall with the upper end at the
height of 5 m. The horizontal distance between the foot of the wall and the lower
end of the ladder is
(A) 9 m (B) 5 m
(C) 11 m (D) 12 m
93. 13 . trdiq w4l quel TeTy (T GYTO (T 1 SR WIE RN €O/ Iqeol 5 . Twere

IR | (AR AR S G4 O] I A6 ]S F 799 (20T
(A) 9 fi. (B) 5 f.
(C) 11 . (D) 12 fi.

SPACE FOR ROUGH WORK
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93.

93.

93.

13 . trcdia (b 2 935 Torg (rEACER Y QTSI (@ W’ @ R Tecq A% 5 .
TN SIS | (TSTICET MO G- B o AT T Slege 79 251

A) 9 fi. (B) 5 .

(©) 11 f. (D) 12 fi.

13 fir. Tt et oGl IR STEmE TS 5 . Shumsamd @R 8- SHel | st e
THE St meEf i s aw?

A) 9 fa. (B) 5 fu.

(C) 11 fu. (D) 12 fa.

13 Hio Tl U WG Tk HeATet SR W Rl T8 o, Sraert Fud {0 5 Ho il F9mE W 2| &R
% fi=ct R o @it & Fea fR & o= i afos gt @

(A) 9 Hio (B) 5 Hio
(C) 11 #io (D) 12 #io

94.

94.

94.

94.

The median of the sequence of numbers 2, -1, 3, 1, -2, 5, 6 is

(A) 1 (B) -1
(C) 2 (D) 3
2,-1,3, 1, -2, 5 6 RAEACGE TOT (202

A) 1 (B) -1
(C) 2 (D) 3

MY SN 2, -1, 3, 1, -2, 5, 6 -9aF T 257

A) 1 (B) -1
C) 2 (D) 3
sAfm wiit 2, - 1, 3, 1, -2, 5, 6 TorARET

(A) 1 (B) -1
(C) 2 (D) 3
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SLRC-2024/P-111/ 1-D 69 [ P.T.O.



94.

TS o gEA 2, — 1, 3, 1, -2, 5, 6 H HILTH ©
(A) 1 (B) -1
(€) 2 (D) 3

95.

95.

95.

95.

A person moves along a path such that he is always away from a given point by
7 m. After moving for some time, he again reaches his starting point. The
approximate distance the person moved during the time is

(A) 22 m (B) 44 m
(C) 122 m (D) 144 m
e T2 ¢F awe [{vE «[1 e 7 W qeg e R 9 [iwg s oife w1 ey

GeTca oife TR (98 T TG AEN FTe TS 20N | @2 RIS (96 oG 91 79
ST I (207

A) 22 fi. (B) 44 fi.

(C) 122 f. (D) 144 3.

gFEe e G G A} 4eq b @ O T @i [iE [y e 7 [ wag qew Ay |
PRl Dol A9 O WA O ARfeS e e | @@ e (o fefby wfoad 91

RIS 79 2e

(A) 22 f. (B) 44 fi.

(C) 122 fi. (D) 144 .

T AT 9 A STREE OeE el S R A fegem Seame 7 . mieme o
U A JEEAEE A R e RS SREE @R § §EEE e S99 S
TGN ?

(a) 22 fa. (B) 44 fr.

(C) 122 fa. (D) 144 fi.

SPACE FOR ROUGH WORK
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95.

T SAfth Ueh 99 T 36 TR =erdl € T 9 fou e vk fomg @ ghwm 7 o g @Al 81 F® R e
% 916 98 QA 30 TR forg W Uge San 81 39 §HE % QR At g a9 oht TR STgHTa

UK
(A) 22 Ho (B) 44 Hio
(C) 122 Hio (D) 144 Tio

96.

96.

96.

96.

96.

A cube of volume 1 m? is cut equally into smaller cubes of volume 1 cm® each. The

number of smaller cubes found is
(A) 10000 (B) 100000
(C) 1000 (D) 1000000

1 % ¥, SRS G B 2@ 1 % (5. . SRS PRHA T G AN P Tfereq) 279 |
o1 I TePq R (2”

(A) 10000 (B) 100000
(C) 1000 (D) 1000000

1 9 . SIS G G S0 T G Faed 1 ¥ 1. [, ooy 9o [ow
912 | Y T TIPSO A 2

(A) 10000 (B) 100000
(C) 1000 (D) 1000000

1 =9 . USWTE TAT 78 % 1 899 4. 5. a9 e R SR g s, e
fratfem e tiEma?

(A) 10000 (B) 100000

(C) 1000 (D) 1000000

1 9 Hio 3T Tt Teh 89 bl 1 &9 Ho Hio A A B 1 § GHME &Y F hIel STl g | 91
T B =41 hl T B

(A) 10000 (B) 100000

(C) 1000 (D) 1000000

SPACE FOR ROUGH WORK
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97.

97.

97.

97.

97.

The smallest positive integer that is simultaneously divisible by 6, 8 and 12 is
(A) 24 (B) 18
(C) 48 (D) 36

6, 8 T[F 12 (3 GC3 TRCS [Tey Jelod LT 4% AL 2’7
(A) 24 (B) 18
(C) 48 (D) 36

TS ISP 7R AN G2 M 6, 8GR 12 7HI [eren, @b 29

(A) 24 (B) 18

(C) 48 (D) 36

TGS AT TEEIE T SARH Sl 6, 8 AR 12 i T, 5=l el
(A) 24 (B) 18

(C) 48 (D) 36

TEY B2l gATHS IUNeh, ST Tk @19 6, 8 IR 12 4 fawrsa 7,

A) 24 (B) 18
(C) 48 (D) 36

98.

98.

The difference between the smallest 3-digit even natural number and the largest
2-digit even natural number is

(A) 1 (B) 2
(€ 3 (D) 4

3-SFYS WIHRSF T JU TG TR O 2-SRFS A I FeIMF TR A9 (2%
(a) 1 (B) 2
€ 3 (D) 4

SPACE FOR ROUGH WORK
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98.

98.

98.

3-SCF FUON FIS Yo TR G9R 2-WCF J2I FIS I TR T N1 25

(A) 1 (B) 2

(C) 3 (D) 4

fm 3-gmfsmrmar it s smfsm o wfem 2-amfsmriar e ss'a et fewe
T BRI

(A) 1 (B) 2

(€ 3 (D) 4

3 3Thi h! Ha DI UTehideh TH TEAT IR 2 3Tehi i G99 SS! TThideh 0 GE&AT o o 1 TR §
A) 1 (B) 2
(€) 3 (D) 4

99,

99.

99,

A number was increased by 40% and thereafter decreased by 40%. The net change
in the number in percentage is

(A) 16% increase (B) 16% decrease

(C) 32% decrease (D) No change

I BT TR AT 40% I T 2 TIF OF PO 40% TP 91 A | O ARAITS
AT 53 A vav

(A) 16% I= (B) 16% 3™
(C) 32% 2 (D) SRAfe®

G TRANF 40% I F1 2GR 2FAGICS 40% 2T F41 27 | *ORR F[fFey wwanfoa @b
o[RS 2a

(A) 16% I (B) 16% 3™
(C) 32% 2™ (D) wfHafee

SPACE FOR ROUGH WORK
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99

99

FoET A8 S fomm 40% SEF™ S ST 39 40% THEAE 9E | Saeietd o fsemi
S IC R CIDEIDIRS ]

(A) 16% el (B) 16% @H W&l

(C) 32% @H &l (D) St e

T G&AT H 40% hl Jha hl T8 TR 36k a8 40% =T & T3 | T&AT | [, TRadA Jfowrd §
(A) 16% 3t Ffg (B) 16% @t =Ht
(C) 32% =ht =Ht (D) IS SEcra &l

100.

100.

100.

100.

If the average age of A, B and C is 22 years and the average age of B and C is
25 years, then find the age of A after 9 years from now.

(A) 25 years (B) 35 years

(C) 50 years (D) 45 years

I A, B IF CJ 9T¢ T 22 28 IF B FF C I 97T I 25 79, (93 fe¥{ #[ 9 I=d
folee A9 P 27

(A) 25 =3 (B) 35 3=d

(C) 50 =7 (D) 45 =]

M A, B € C-9F 5% I 22 29 €} B 8 C-9F 9T TP 25 J2F T, O(F @34+ (AF 9 =
I A-97 RO IO 3, 1o T2 |

(A) 25 q=d (B) 35 J=d

(C) 50 =7 (D) 45 927

Sfe A, B A CH e I@ien 22 dER A/ B AR C 1 Tg sMis 25 SMisAl, 9 dER 3™
AT Sve S8 SEmE?

(A) 25 FER (B) 35 &R

(C) 50 =ER (D) 45 sER

SPACE FOR ROUGH WORK
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100. g A, B 3R C &I 379q 3117 22 a9 91 B 31X C i 3f/gd 21y 25 a9 2, @ 319 ¥ 9 4 918
A I 311g F1a hifsu |
(A) 25 = (B) 35
(C) 50 = (D) 45 =d

101. The smallest among \g, \E, \/E and \E is
1

A) 45 (B) \E
(©) \E (D) \E
101. \g \E JEWﬁ@WWWWW
(A) \E (B) \E
(©) \E (D) \E
101. \E \E, \/E R \E -3 CK) FUed MR 2
(A) \E (B) \E
©) \E (D) \E

SPACE FOR ROUGH WORK
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1 1 [1 2
101. \g \g \/;aﬁ\gﬁﬁ@?la ERIEIECRCRISEL
1 1
(A) \g (B) 3
1 2
(€) \/; (D) 3
1 1 [1 2 «
101. \g \g \/;am\gﬁaaﬁ@ﬁa%
1 1
(A) \g (B) 3

1 2
C) .= D) .=
(©) 4 (D) 3
102 Ifg—%zg, then XY is equal to
(A) 2 (B) 3
(C) 4 (D) 5
102. 3 X =Y -2 og XY qqm g
3 4 7 z
(A) 2 (B) 3
©) 4 (D) 5
102. 7 X =Y - Z wm XY g
3 4 7 z
(A) 2 (B) 3
(C) 4 (D) 5

SPACE FOR ROUGH WORK
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102. 9 X =Y _Z s 2TYTZ o g wmi
3 4 7 z
(A) 2 (B) 3
(C) 4 (D) S5
102. g LY _Z § XTYTZ g qum 2
4 7 z
(A) 2 (B) 3
(C) 4 (D) 5
103. Two numbers are in the ratio 2 : 3 and the product of their HCF and LCM is 96.
The sum of the two numbers is
(A) 18 (B) 20
(C) 22 (D) 24
103. 5l MM 2 : 3 OO AR OF PReq 9.97.8. S #.7.8.-7 7[R 96. AR YO I9RFe
(A) 18 (B) 20
(C) 22 (D) 24
103. 76 ST SRS 2 1 3 @R O ALG. G2 FI.B.-F BT 96. F {64 (91 25
(A) 18 (B) 20
(C) 22 (D) 24
103. TH+ foamf sgsm@mn 2 : 3 AW foERH d.endn. 3 .39 gFsree 96. ° foEe

A IS e
(A) 18 (B) 20
(C) 22 (D) 24

SPACE FOR ROUGH WORK
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103. T T 2 : 3 FIAE H T IR 39 HeqW THYEGS R TIqd THYUEE *1 PEGA 96 T | qMl

Tl 1 AN B
(A) 18 (B) 20
(C) 22 (D) 24

104. The value of %/87 is
A) 1 (B) 3
(C) 2 (D) 4

104. J82 77 23
(A) 1 (B) 3
C) 2 (D) 4

104. @—kﬂﬁ Qg

(A) 1 (B) 3

(C) 2 (D) 4
104. 82 i urm

(A) 1 (B) 3

(C) 2 (D) 4

104. J82 w1 9w 3
A) 1 B) 3

(C) 2 (D) 4

SPACE FOR ROUGH WORK
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105.

105.

105.

105.

105.

A certain amount invested in a firm would become double at the end of one month,
but it deducts an amount of ¥ 120 on every doubling. A person invests an amount
of ¥105 and continues for 3 months without investing any additional amount.
At the end of 3 months, his net income is

(A) ¥55 (B) ¥O
(C) ¥270 (D) ¥45

I 9 TP 2dfovrre 4 [Wce FfEce aiRs o@e @@ & 7@ AREes 2weel, 51
2fSDICHICa a4 7% 2'cei & 120 PG A0y | G Jcz €2 aAfevie & 105 R
T I (Il WS [Tl TP 20 3 WA beR fch | 3 Weg WS q2eeq [ SR

(A) T35 (B) €0
(C) T270 (D) ¥45

a5 WS “fgma =1ef g36ts e Afow RNEe F9 OF o™ T Bed 2@ a7 58 ofe
Rt 120 (PO IS =1 e Ffe T 105 RS 3@ @32 @i Sfefae wifue
RfScer 1 Fcg 3 W @ @ | 3 WIOE I ©IF (G IR 3¢9

(A) T35 (B) €0
(C) ¥270 (D) ¥45
Y BT HEHIHE T SHYASAT FE SeERETE o TS BEA SR U™ GEA SIS

HHAAT € 120 G IE A ARG | 98 GIST & BIA FHAEE & 105 SH IHT AR STall 3T
T BIeUeEH! o o et g 3 @nfaar| g 3T e faerfy g s sme

(A) ¥55 (B) 0
(C) ¥270 (D) ¥45
T HH w1 TE we ffaa Ui v wER % o1 W SR 2 ST, dfe 3EH gk a1

& 120 1 Tfyr e <t STt 81 Uk Ak 9@ wH A € 105 k1 o war @ eiw fomn o sifafer
TfRT %1 Hewr TRy 3 HEH deh ST @ @ | 3 WEM o 37 H 3Iuh! & 3T Sl

(A) ¥55 (B) ¥0
(C) ¥270 (D) ¥45

SPACE FOR ROUGH WORK
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106. The count of prime numbers between 80 and 100 is

(A) 2 (B) 5

(€ 3 (D) 4
106. 80 F 100 I V&© SFS (NETF AN (F361 2

(A) 2 (B) 5

(C€) 3 (D) 4
106. 80 ¥R 100-9F W& SRS (e 7R FAG ?

(A) 2 B) 5

© 3 (D) 4
106. 80 3 100 T3 ToRmE A9 Tt FfsmT &7

(A) 2 B) 5

© 3 (D) 4
106. 80 3TR 100 & s 3191y | il it 2

(A) 2 B) 5

©) 3 (D) 4
107. Find the value of [(107 +102)+ (102 +1072)]+10°.

(A) 100 (B) 200

©) 2 (D) 1
107. [(107 +10%)+ (102 +1072)]+10° T = fiefxr 5 |

(A) 100 (B) 200

(C) 2 (D) 1
107. [(107 +10%)+ (102 +1072)]+ 10°-47 i+ fefa ey |

(A) 100 (B)
(C) 2 (D)

200
1

SPACE FOR ROUGH WORK
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107. [107 +10%)+(10° +1072)]+ 10° f 7+ g1
(A) 100 (B) 200
(€) 2 (D) 1
107. [(107 +10%)+ (103 +1072)]+ 10° =1 OH Fa =HIfST|
(A) 100 (B) 200
(C) 2 (D) 1
108. If A : B=3, then 144A : 36B is

108.

108.

108.

108.

(A) 4 (B) 12
(C) 3 (D) 16

I A : B =3, (93 144A : 36B 3 T+ 27
(A) 4 (B) 12
(€) 3 (D) 16

IM A : B =3, 94 144A : 36B-3 T+ 2
A) 4 (B) 12
(C) 3 (D) 16

¢ A : B =3, 3%l 144A : 36B T 9m1
A) 4 (B) 12
(€) 3 (D) 16

I A:B=3,d 144A : 36B I U B
(A) 4 (B) 12
(©) 3 (D) 16

SPACE FOR ROUGH WORK
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109. The fraction equivalent of the recurring number 2-19 is

271 217
(A) —= (B) =—
99 99
219 291
©) -+ (D) ——~
90 90

109. Ce?[fle 7221 2- 19 1 gen @A (20>

271 217
A) —5 B) -5
99 99
219 291
€) — (D) =
90 90

109. (S R 219 -9F FeT) N &

271 217
A) — (B) =——
99 99
219 291
C) —~— (D) ==
90 90

109. 219 FEATUTE SEAThHE IFNSHIY G0 S1@E @iwal 78l

271 217
(A) —= (B) =—
99 99
219 291
€) — (D) =
90 90

109. Tad! €& 219 F1 quged 1= grm

271 217
A) — (B) =——
99 99
219 291
(C) —— (D) ==
90 90

SPACE FOR ROUGH WORK
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110.

110.

110.

110.

110.

The largest of 26, 35, 4% and 5% is
(A) 26 (B) 3%

(©) 44 (D) 53

26, 35 4% oi% 53 AACFIBIF A TeF AL 27
(A) 26 (B) 3%

(C) 4% (D) 53
2%, 35, 4% @3z 53-97 Wy JTERH =

(A) 26 (B) 3°
(C) 4% (D) 53
26, 3%, 4% my 53 f1 Ao e

(A) 26 (B) 3°
(C) 44 (D) 53
26,35 4% 3w 53 1 ge@ wE1 ®

(A) 26 (B) 3%

(©) 44 (D) 53

111.

For a bicycle rider, it is seen that for every two complete pedaling, the front wheel of
the bicycle makes 3 complete turns. If the radius of the bicycle wheel is 70 cm, the
distance (in metres) covered by the bicycle in 10 complete pedaling is

(A) 7m (B) 14n

(C) 21n (D) 28n

SPACE FOR ROUGH WORK
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111. 99 BRCF SIERE (Fqe |l T @ (98 TS Yol Wl A MRCE biaceeda
SOIGFICHICT 9 3 A% Weq | AW BB b TPTw 70 5. . 7, (98 CICee 1060
ool 2P BIRCEC f[FuE 212 (WOIN 9o Sfoay i< 2
(A) 7m (B) 14n
(C) 21n (D) 28n

111. 9F Ee SRS CFed (9l T @ 6 “Hees e 2ee AR AN Bl feef
SRE Ao = | AW ARG SRFE I 70 G W =, ©@ 1016 A=l wfiicwca ARt
wfoay w1 1wy (Forea) 2=
(A) 7m (B) l4n
(C) 21n (D) 28n

111. 918 HEhal AT Jamfe, oo dderet == 2 |r fhiesen, famfy ammen w= 3 arfifest| g
UTgohed HMATH T@En 70 . 1. S/, ot o @ 10 9R fhidsen, @gshen s MmN
(forewre) wrRerH?

(A) 7m (B) 14n
(C) 21n (D) 28n

111. T dEfoha 9aR & foTw =@ 3@ o fo yee 3t gt defom o fou amsfra 1 stren ufgen 3 qof
HHTE ST § | AfE TiEfohet o dfed w1 s 70 Wo Hio 7, @1 10 wof Uefom # wwfora g0 @@ A
T g (i H) ®
(A) 7m (B) 14n
(C) 21In (D) 28n

112. The base and the height of a right-angled triangle are equal in magnitude and the

length of the third side is 2+/2 cm. The area of the triangle is
(A) 2 sq. cm (B) 22 sq. cm
(C) 4 sq. cm (D) 442 sq. cm

SPACE FOR ROUGH WORK
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112. &5 Tl fGges o o Twor i A S gercel Al o 242 5. [ 1 fagehe
CFaFs]
(A) 2 3sf 5. . (B) 22 39 (5. fil.
(C) 4 3o . fi. (D) 4+/2 3sf ¢5. 3.

112. 93 e fagesa o ¢ Twer el TWNE 9 e qww o 242 @1 fil. | fagsfhy
CFaFs] 29
A) 2 35f 1. . (B) 2+/2 3of @1, .
(C) 4 3of 1. f. (D) 442 3o 1. fa.

112. TH T WEFSAWE g A/ ShaEH Taen e oI/ o 319 smarfaf e
2v2 @, .| 3 smEnforemt wifern
A) 2=t fa. (B) 2+/2 =t @, fa.
(C) 4 =t @, fu. (D) 4+/2 =i @, fi.

112. TF GHIT B o1 3mem 3t Soeht Seé aftmor & srer B ofR diad syoi it orwag 242 Fo o
HRELEEARIELTR
(A) 2 =t Fo o (B) 2+/2 =t To o
(C) 4 =t Fo o (D) 4+/2 a0 Ho Hto

113. In a range of consecutive numbers starting with 1, all the even numbers are
removed. From the remaining, consider the first 7 numbers. The sum of these
7 numbers is
(A) 35 (B) 42
(C) 49 (D) 56

113. 19 *[@ J<S 9 G RO (P b1 7P TM© A FHCACIN I TR0 Sreqiz.

2’5 | S8 TR A2 761 A R 91 2% | G2 751 A o 0T (R
(A) 35 (B) 42
(C) 49 (D) 56

SPACE FOR ROUGH WORK
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113. 1 e e 28T SNSRI ARE (AT TG (ST TR AR (Fell 291 | S[PEBBM (AP
22 715 =1 Reavel w1 =2 | 9B 7M6 TR @orwe 25
(A) 35 (B) 42
(C) 49 (D) 56

113. 1 S Y™ 3@ SHR aiRFEE T SO SHSHTRRE! SERA™ ST | ARG RAEE
Tmfs 99 7 ARG 9 TR S WE 7 SFSETERE ST e
(A) 35 (B) 42
(C) 49 (D) 56

113. 1 ¥ Y& TH aTcl AR gensdi i Jaan H, 9t a9 ged g & S g1 w9 H " uem
7 wEnstt W fa=m s | 37 7 gt a2
(A) 35 (B) 42
(C) 49 (D) 56

114. Two numbers A and B are first added and squared to get C. In the next step, B is
subtracted from A and the result is squared to get D. The result C — D expressed in
terms of A and B is
(A) A(A+B) (B) 4(A-B)
(C) Af (D) 4AB

114. 75! R A S¢ BT @@ 99 Fre C (71 931 | 998! bTe A9 1 B el s qof
FAC D I AF 1 C-DF AT BT A FRCe AFMRIMCHI 273
(A) A(A+B) (B) 4(A-B)
(C) A4B (D) 4AB

114. 76 R A € B (3 A¥CH 19 1 2 R Iof g C “N€q W | 2K 4ie7l A (e B [l

9 27 G2 Foe] 95f F9¢ D “l1SF A | A 8 B-9F MR AN C — D (F 2N e 203

(A) A(A+B) (B) 4A-B)
©) A43 (D) 4AB

SPACE FOR ROUGH WORK
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114. A I B IWARGWE SNEAH A/ @ & g W C AFaE | 3AH SiiEd B @ A HE™
aF@ T o e & feg i D 99| C - D @ A R B foeemE wRArsa
(A) A(A+B) (B) 4(A-DB)
© 28 (D) 4AB
4
114. C 99 & & o0 qgct 31 Tt A 3R B &l SISl a1 g a1 3T o {1 STt 21 3TTet =0T
H, AT ¥ B &l 9@ A1 ¢ IR D UMW & o foie 38 aftomm &1 ot fohan Stran 21 9o ¢ — D
F A X B F 4 | ==xh B T B
(A) A(A+B) (B) 4(A-B)
(C) AB (D) 4AB
4
115. Find the least number by which 1250 must be multiplied to make it a perfect
square.
(A) 4 (B) 3
(€ 5 (D) 2
115. “[row 5 7RI 1250F 77 FIaCe @1 7jofasf el ¢ A9 2
(A) 4 (B) 3
) 5 (D) 2
115. R R4 T 7= 1250 & @ FEee 7ol qof TRy “qnea T o1 Fefy e |
(A) 4 (B) 3
€ S (D) 2
115. 1250 @ 377g M GAHAR 96 GIEA SHSHIST ST |
A) 4 (B) 3
(€ S (D) 2
115. 98 =9 91 F1q Fifsr, a8 1250 @ v quf ot s 6 fore o foren s =nfew
A) 4 (B) 3
€ S (D) 2

SPACE FOR ROUGH WORK
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116. Identify the incorrect set.
(A) Bad : Worse : Worst
(B) Poor : Poorest : Poorer
(C) Rich : Richer : Richest
(D) Good : Better : Best

117. Identify the verb in the following sentence :
Neeraj ran very fast.
(A) Very
(B) Neeraj
(C) Fast
(D) Ran

118. Which word of the following is an example of pronoun?
(A) Again
(B) Pink
(C) They
(D) Speed

119. What would be the antonym of ‘“friend’ ?
(A) Foe
(B) Unfriend
(C) Dislike
(D) Buddy

120. From the list below, identify the synonym of lament’.

(A) Sad

(B) Mourn
(C) Copied
(D) Molecule
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121. Which word is incorrectly spelt?
(A) Basically
(B) Essentially
(C) Primarily
(D) Varbally

122. Give one-word substitution for ‘life history of a person written by another person’.
(A) Autobiography
(B) Biography
(C) Monograph
(D) Bigamy

123. What does ‘in a nutshell’ mean?
(A) Peanuts and almonds
(B) Very tough explanation
(C) Expressed in short

(D) Important discussion

124. Fill in the blank :
Tuhin ran _ than Zubin to win the race.
(A) fast
(B) faster
(C) fastest
(D) fasting

125. Identify the collective noun for ‘dogs’.
(A) Gang
(B) Herd
(C) Team
(D) Pack
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126. Which of the following punctuation marks is called ‘hyphen’?

127. What is the opposite of ‘sorrow’?
(A) Joy
(B) Happy
(C) Laugh
(D) Beauty

128. Which of the following means ‘to get rid of a problem’?
(A) To hammer it out
(B) To get to the bottom of
(C) To get the monkey off one’s back
(D) To get the acts together

129. Identify the grammatically incorrect sentence.
(A) T want to go home now.
(B) I wish to go home now.
(C) I shall go home now.

(D) T went to go home now.

130. Choose the correct option :

Is your brother _____ to the gym?
(A) gone
(B) going
(C) go
(D) went
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131. Which pronoun is used for ‘non-living thing’ ?
(A) I
(B) We
(C) Us
(D) It

132. Identify the incorrectly spelt word.
(A) Monkey
(B) Moniker
(C) Matress
(D) Molten

133. Identify the adverb in the following sentence :
He could not go deep into the forest.
(A) Deep
(B) Go
(C) He
(D) Into

134. From the list below, identify the antonym of ‘cheap’.
(A) Price
(B) Poor
(C) Expensive
(D) Rice

135. What is the synonym of ‘furious’™
(A) Laughter
(B) Witch
(C) Impure
(D) Angry
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136. Identify the incorrectly spelt word.
(A) Square
(B) Parpendicular
(C) Diagonal
(D) Triangle

137. Give one-word substitution for ‘a person who loots and plunders ships’.
(A) Robber
(B) Pirate
(C) Dacoit
(D) Looter

138. What is meant by ‘to get the green signal’ ?
(A) To stop others
(B) To go away
(C) To get permission

(D) To get the keys of a car

139. Fill in the blank :
Lokesh can jump very _____ .
(A) high
(B) higher
(C) highest
(D) tall

140. What is the collective noun for ‘ish’?

(A) Swarm

(B) Pack
(C) School
(D) Herd
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141. Fill in the correct conjunctions in the following :

Reshma Padma knew the directions, and now they are lost.
(A) Either, or
(B) Both, and

(C) Not only, but also
(D) Neither, nor

142. Which of the following punctuation marks is called ‘apostrophe’?

143. Which of the following means similar to ‘elevated’ ?
(A) Topped
(B) Wished
(C) Promoted
(D) Transferred

144. What is meant by ‘to create a ruckus’?
(A) Make loud noise
(B) An artistic work
(C) Produce music

(D) Bake a cake

145. Which of the following sentences is correct?
(A) She had not coming to the wedding.
(B) She is not come to the wedding.
(C) She did not coming to the wedding.
(D) She is not coming to the wedding.
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146. Choose the correct option :

We __ the National Anthem every morning at school.
(A) sanged
(B) sing
(C) sings
(D) singed

147. Which of the following pronouns refers to ‘myself’ ?
(A) We
(B) They
(C) I
(D) You

148. Identify the incorrectly spelt word.
(A) Damsel
(B) Wicked
(C) Volcano
(D) Mountein

149. Identify the correctly spelt word.
(A) Mongrel

(B) Marval
(C) Martal
(D) Middel

150. Identify the preposition in the following sentence :
The cat was sleeping under the cot.

(A) Sleeping

(B) Under
(C) Cot
(D) Was
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